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Studies on Wait-Free Distributed Algorithms*

Sen Moriya

Abstract

A distributed system consists of multiple autonomous processes. A distributed
algorithm makes processes cooperate to work efficiently in a distributed system.
A distributed system has an advantage such that we can construct a fault-tolerant
system by drawing out its potential redundancy. Therefore, a distributed algo-
rithm with fault-tolerance is important. Especially, a wait-free distributed algo-
rithm which has excellent fault-tolerance to crash fault is attractive. In a wait-free
distributed algorithm, a process does not have to wait for other processes’ work
to complete a computation in finite time.

In this dissertation, we consider wait-free distributed algorithms for two fun-
damental problems: one is a clock synchronization problem and the other is
linearizable implementation of shared objects.

In chapter 2, we consider a wait-free clock synchronization algorithm, which
synchronizes local clocks of processes, on a synchronous shared-memory system
called an in-phase system. First, we show the lower bound of synchronization
time, which is an efficiency measure, is n — 2 where n is the number of processes.
Next, we propose a wait-free clock synchronization algorithm with asymptoti-
cally optimal synchronization time. Furthermore, we propose an asymptotically
optimal wait-free clock synchronization algorithm with self-stabilization, which
implies the system tolerates transient fault, and space-boundedness.

In chapter 3, we consider wait-free linearizable implementation of a shared ob-

ject on a synchronous message-passing system. We introduce two kinds of models

*Doctor’s Thesis, Department of Information Processing, Graduate School of Information
Science, Nara Institute of Science and Technology, NAIST-IS-DT9761023, February 7, 2000.
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to a broadcast, a reliable broadcast model and an unreliable broadcast model. We
introduce two kinds of models also to local clocks, an asynchronous clock model
and a u-synchronous clock model. We propose wait-free linearizable implemen-
tations of read/write-registers for all combinations of a broadcast model and a
clock model. Furthermore, we propose wait-free linearizable implementations of
general objects for both clock models where we assume only a reliable broadcast

model.

Keywords:

distributed system, distributed algorithm, shared-memory system, fault-tolerance,

wait-freedom
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gbogoooobbbbbodob,dddd ewr OO0 bO0ooooo
gubod. bobt ewr, 0000000 O0O0O0OUOOO0O0O0O0O0O0O0O0ODO
ggd.

2.4.1 0OJO0OOOO wWCS

ERN

000000000, 00000 RPOCODODOOOO,000000 (adjusting
mode), 000000 (adjusted mode) DO D0O. DOODOOO, 00000000
gbooooboobobou.boobooooboobo pb,000 adjust
O0O00O000obO0obDbD. o0oouobobobO00oO check-adjustedd O 0O 0O
gobbbboboogobbboo,gubobobbobob.booooouobn
gooboo,oobobobbobobobobooob.ob,b0obb OO
O0000o0oooOoO0 pO0OOOCO0OOO0OOODOOOOOODOODOODOO (O
00 checkonap). 00000 pO00O00O00OO0D0O0OO0,00000000
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shared variables

Clock, 000 0

Count, 0O 0O 0

Work_count, 0O 0O 0O

Gen, 000 1 /*0000 */

Invalid;(j = 0..n — 1), 000 0

Mode, ” adjusting” or ” adjusted”, 0 0 O ” adjusting”

Sync, C {F,..,P,1}, 0000 /*0000000000000O00OO0O */
Asyne, C {Fy,...P,1}, 0000 /*0000000,000000000000 *
local variables

cur, OO O

last_count;(j =0..n—1),000 0

last_gen;(j =0..n —1), 000 0

last_my_count;(j =0..n— 1), 000 0

key;(j=0..n—1) /0000000000 */

lstl0.n—1] /¥ 00000000 */

nezxrt, sync, pos

1 repeat forever do on receipt of a pulse

2 read Reyr;

3 if (check_nap) then partial_reset; /* 0000000 */
4 elseif Mode = "adjusting” then adjust;

5 else /* Mode = ”adjusted” */

6 Clock := Clock + 1;

7 nezt ;= cur + 1 (mod n);

8 last_count eyp := Peyr.Count,;

9

last_gencyr := Peyr.Gen,;

10 last_my_count,,, := Count;

11 cur := next;

12 Count := Count + 1;

13 Work_count := Work_count + 1;
14  end

021 000000 wes(pOOO,00000000)
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15
16
17
18
19
20
21

22
23
24
25

26
27
28
29

30
31
32

procedure check nap;
dif f 1= (Count — last_my_count,,,.) — (Peyr.Count — last_count,,,);
if (diff > 0 and P.,..Gen = last_gen,,)
then Invalidey, := Pyr.Gen;
return { [naps I];;: Work_count >n and diff <0 } or
{ [naps I1];: Work_count > n and P.,,..Invalid; = Gen }

end procedure;

procedure partial _reset;
Gen := Gen + 1;
next := 0; Mode := "adjusting”; Work_count := —1; /* becomes 0 at line 13*/

end procedure;

procedure sort_list;
list[0..n — 1] := sort ids in the descending lexicographic order of (key,q,1d);
Sync := 0; Async := 0; pos := 0; check_adjusted;

end procedure;

procedure check_adjusted;
if lzst[pos] = ¢ then Mode := " adjusted”; next := 0; else next := list[pos];

end procedure;

022 000000 wes(poooono)
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procedure adjust;
if 0 < Work_count < 4n — 1 then next := Work_count + 1(mod n);
elseif 4n < Work_count < 5n — 1 then
begin
if Invalideyr # Peyr-Gen
then key,,,. := P.y». Work_count — Work_count;
else key,,,. := —1;
next := Work_count + 1(mod n);
if Work_count = 5n — 1 then sort_list;
end
else /* Work_count > 5n */
begin
if Invalid,y, = P,..Gen or P, .. Work_count < Work_count then
begin
Async:= AsyncU{P.,.}; /*00 */
pos := pos + 1; check_adjusted; Clock := Clock + 1;
end
elseif P.,..Mode = "adjusted” then
begin
if (Sync € Peyr.Async and P.,,..Sync # 0 and Clock # P.,..Clock)
then partial_reset; /* 0000000 */
else
begin
Clock := P.yyr.Clock + 1;
if Sync C Py, Async
then Async:= AsyncU Sync; Sync:=0; /¥ 00 */
Sync := Sync U { Py, }; pos := pos + 1; check_adjusted;
end
end
if (Work_count = 6n — 1 and Mode = ”adjusting”)
then partial_reset; /* 00000000 */
end

end procedure;

023 000000 wos(pOoooog)
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N y
2 f k » 0000000
1—* x 000
P, R
> —00ooooo
P3 4 p
o i j, PO0O0O0
2 > pf PODOO000O00
»00000

024 000000 wesonboono

POO0O0OO. 00000000000 0O0,0000 ROOOO partial_reset
god,bbugbobbooogdan.

godbooboooobobobobobobobbob24nDb0.0ODbDD POO
oo oobobooboboboo0oououonouoonon partial_reset O 0O O
googboobbo. bobuoodg,buooooobobbobboboogo
0 Work_count OUOUO. DODOOOOOOOOO0OOOODO,0DD00O0O00O0OO0
Oooboooobooood Work_countD DODOOD. O 24000000,00
guoogoobobogooooo,bbogggobboboooobobboban
gobobbooabbd.

OO0, 000 crecknep DO DODOO0OOODOODODODDOO,O00O0OO
adjust0 0D O00O00O0OO0OOOOODOOODOOO.

00000000 (D00 check_nap)

O000000,0000000000000000000 Count (00O 0)0O
O00.00,00000000000000000000000O0O00 Gen(OO
01)OOO. Gen=g0OOOO0OOOO,00¢0000000OO.

Oodo R0 RUO00000000000,000 ROO0O0000000O
0000 P.Count, P;.Count0 0000 (O 22,0160,dff000)000,0
250000 pbO0odd0 pObOoO00oooooooooobbo. A0 ARO00
000000000 (0 1v0o0000000), P.Gen000 POOO Invalid;
ooboodooood, U0 p0ibo0 00000, 000000000

16



(@ POOOOOOO

R X—
P A y
j J
S
>0 0000
b) P \
(b) F‘;DDDDDDD . S>S.Invalid =g » partial_reset
P =4 —
i K X 0o
) ,O0000g
] A PjT PO
>0 000 P, RjDDDDD

025 0000 RRO0O00O0O0O

000000 P.Work_count >n 000 (O 190 [napsI; D000 200 [naps
I, 000), partial reset0 0 0. 0000 ROOOOOOOOOO,00000
godb CoumtDO0Ooooooodn RO pOOLOO0OOOOLCDOOO. 00
gooobooboboboboooog, BaWork_count >n U0000O0O0O0ODO.

O000000O000000Db0 00 partiel_reset0 000 0O0O0O0O. OOO
O0D000,000 edrustD O O0ODOODO.

00000 (000 adjust)

gbboodbooogboobob,oooobabbobogoo. O 2600
O0oobog¢«—10000 Work_countD DD DOOO,00¢t00000O0O0O
gboooooboboboogd.

e IO DODODO (0 <Workcount(t —1) < 4n—1)
e 10O ODODO (4n < Work_count(t —1) < b5n —1)
e DOODOO (5n < Work_count(t — 1))

goodb,ggoogg,gbbobobbbbobuobbbooooonon
guddbbobooooobbbuobbboboobuoouoboo,bobd
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oood |DDDDDD gooooo
o 0o 0O
goog oot @gogo
Work_count 0 4an 5n
oooodood

026 0000 ROODOO,0000

gbogobogbobboooboobboboboob.oooobobb,o
godoboobbbobobbbobdooooboob. bbobbooda,bdao
gggbboooobobboooobbbooobbbooobbobobog. o
U, 4o0000000booog,bubooboboboooobbboda
0000000 000O0oO0oOO000ooOoOOoUOoOoOoUUOO (DD 2). 000
gboogo,obbbogobooooa.

Ooooooo,0000 PO PpWorkcountOOO, ROOOOOO0O0O0O
oood, pogbboobogooobobooooooooo. odd, RO OO0
ooodoodooo, sudbobdod0 pO00000goooocooobd
partial_resetl D OO0, O pO0OO0O0OOOOOOOOOOOOOOOO0O0O.
ggodbodoo,obobbobuooobbobbbooobobboboogao
O.00000obobO0o,0b0bbb0oboooboboobboogonog sort listd O
Upbbddboobooboobbbobbboobogooooobobobon
O,0000000 Gst0O000O0O. 0O00,000000000000000O
ggoooboobob,obboobbobbooo. RpOUDDOOODLOOO
obooo0oooooog, Do checkadiustD OO, 0000000 PODOO
gboogooboboobuooobboooobn.

OooOoooob, 0000000000 D0DOO0ODbLDODOO0O,0000 st
guoogbobooobobobbbbobodoooooobobobob.oab,bbobn
hstODODO, pO000O0O0O0O0ODOO0000OODO0O000b00bOOobDboOobOon
gbbbobooobboooobob.bubobuooboooooboboogb
oo0.000o0,000000o00b0000o0000 R;ooo.
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PO PO0O0OOODOOOOOO,000 AOODOOOOO0O000000
0,00000000000,000 00000000.0000000
0 Lst00000000000000000.0000,P0 AODO00O
000000 (0 470).

pOoodoooooodoo,dooooooon pgodoooooon
Ooo,000 bodooodo. ooooooooono ROo0ooon
ga.

e PO0O0O0UULOLDUOLOODLODO,DbUOODOLOUOOULUOLDLbLDbDOOO
00000000,00000000000 (0580), 0000000
god. oo, obobobuodg,ooobobbbooobob
gbod Sync, UODODOOO0ODOODOOODODOODODO AsyncO OO

PO pPO,000000,0000000 P,O000O0O000O0O0O0,00
I A A I
P00 partial_reset0 0000 000O0O0OOO.

o000 RO, RO0O00O0O0O0O0O0OODODOOO0O0O0O0O0UODO,0DD0O0DODO0O
LstO OO0 pO000O00O0O0O0OOOOOODOOOOO0ObOOO,0b000o, 0o
0o0o0d0d,dddoooooo,odd checkadjustD OO0 POODOOOOO
oobooboobboooooo.obgogo wesh,0ogoobooboobouooo
Udbod pOO00O000OO0O0O0O0O0bOObObObOOOOg, P.Work_count = 6n
O000000O00O0OOOO00OOOOO0OO0ODODODODOOODODOOD (OO 5
Oo00). 000, pO0000O0OO0OOO0OO00O0OO0OOCOOODDOODOOOOO
P, Work _count = 6n 0000000, parttal resetd D0 DO DO0OO0DO0O0O0O.
00000 partial_reset0 00000000, 00000 partial_resetd O 00O 0O
gobobooooooo.

2.4.2 0O0O0O0OOO wesOUO OO

ooooog wesuoouoDo 1200000000000000O0O00OO0ODO
gooo.
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00000,0000000000000000 partial_reset 0000000
00000,0000000000 (0000000 partial_reset0 00000)
00000000000000000000000000. 000000 WeS
00,00000000,000000000000000000000000
0000000, P.Work_count(t' —1)=6n— 10000 000000000
000.00500,000000000000000000000000000
0000,00000000000000000, Py Work_count(t' —1) = 6n— 1
0000 #0000000000000000000.00800,000000
000000000000000000000000000000000,00
00000000000000000.00900,0000000000000
partial_reset0 0 0000000000006, 00000000. 0O 10,110,
000000000000000000000000000.

027000000000000000,000 200200 (k;i),(k,5) 0
OO,k <k 000 k =k Ad <3000, (ki) < (k;,j/) 00000, O
0,00000000000000000000,¢4<¢,000¢=t;Ai>j
000, (t,4) < (t;,/)00000. 00, (t,7) < (t,7) 000 (t;,9) = (¢,5)
000, (t,i) < (4,7)000. 0000 RODD 0000 sort_listd 0O
O, listp] = jlistlp] = /000000 P,P,000 p< 00000000,
P —i Pp00D0.

j
OO0 sort_ st DO00O0ODO0OOODODOOODOOOODOO.

00 2000000+¢000. 00 [t+2n+1,t+5] 0000, 30000
00 Py, P,,P,000000000,00 partial_reset0 0000000. 00,
(t1,51) < (2, j2) < (t3,53), t1 > t+4n+1,t3 <t +50 00000 ty,ts,t0, O
000 P, P, P,0000 sort_ist0 000000, 0000, P, —{P;, O

00, Pp—J' P, 000000 j/000, Py —* P, 000 P;, —3* Py OO
ooo.

(0D) P,O0,004-n+4000000 R,O00000,F,00000000
00000 P00000000000 Py key,000000,00 ,0 sort_list
000. 000, Pkey, =c0000, Py —3 P, 00 (z,5') > (0,5:) 00
0.00 P,0,00t—n+/000000 ROOOOODO Pjkey,0000
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OO0, 00 t0 sert_kstO0 00, ODOOO,t4+4n+1 <t <t3 <t+dbn00
ts—2n+j <t;—n+j <t;3—n+;00000. P,O00O0O [t3—2n+5,t3—n+5'|00
000oo0o0oo0oooo,pp,00000000000000000,00 t3—n+y'
000000 p,00000000. 00 ¢t —-n+40 P,0 P,O0O0COOOO
gooooooo (a)DDDDD,Pj:DDDDDDDDDDDDDD (h)yo oo
oo.

(a) (Pj-keyj,j') = (z+t3—11,5") > (t3 —1t1,71) > (I3 —ta, J2) = (Pj,-key;,, J2)
(0 P,—f P, 00)

(b) (Pj3'keyj’7j,) = (_17jl) < (0,]3) = (P]3 kengajS)

(a),(b)0 0000 Py —3 Py, P, —# P, 00000. n

steps(P,t,1) 00000000000, ¢ <¢t000,00 [¢,t—1000
0000000, 00,¢ =t0000 steps(P,t,t) =000, >t0000
—steps(P;,t,t")00000.000000,000 #,1,,t30 000 steps(P;,t1,12)

+steps(P;, ta,t3) = steps(P;,t1,t3) 000 00. 00000000, steps (P, t,t)
goo,000oooooog.

00 30000000 F,P000¢t000, steps (P;,¢,t) 00000000
0000 +#00000000,R000 [#,¢—1)000000 R, 000000
ooooooooo.

(a) n < PLWork_count(t—1) <5n 000 Tn < P,Work_count(t—1)0 00,
steps( P, t',t) =n

(b) bn < P Work_count(t —1) < 7n 000, steps(P;,t',t) =2n
(c) P, Work_count(t —1) <n 000, steps(P;,t',t) =3n—1 n

POODO yUOOODOOOOOOOOOO,0000,00 t0 sort_listd OO
00, partial_reset0 000 0000000000000 0OO0¢O0DOOOOO0O0O
steps(P,t+ 1, + 1) D a(P;,g) DO 0.

004500, 0000000 A00D0O0O0ODOOO pOOOO.
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1d$t5’1 }dlistl
dests = P, : :

7 ]
dest =p : ]
1 ip2 : LI'? }dl h-1 IPiD ROODOOO
destg ’ O Ist J
ﬁ"l-l H PI
9% Pina ! ’
" E A i gdeSts
dGStSr'] E ISt ) readers
P. =P 5 ,_Li: S
Ih I : :
t+5n+1= 51 s’h_ i tHEnta =

Sh

_—

time

27 0boo00,00000

00 A0 POODO t0 partial_resetd D00 , work (P;, t+6n) > 6n0 0O [t, t+6n]
gooboobbooboooad.

O0A0O0OOO PROOO,a=aP,P.Gen(t))0D00O.0000,00 P.Gen(t)
0000000 Oo  pRO0OO00D0O0DO0O000000O,00 t4+6n0 partial_reset
OdbOd0b0Da=200000.000,a<n00000000,RP000¢t0O0
ooodooooooooo.

00 A0QOOCOOOOROOOODOOODODOOOO [t+5n+1,t+5n+a]00
00000 sO000,20000000 reader,,dest, 100000000 t+5n+4a
0000000000 (0 2.7). 00, reader; s, =FP000. 00 s0O reader,
O00000000000000 dest,00000. readery,dest,(t+5n+2 < s <
t+5n+a) 000, reader, 000 s0 s—1000000000000O000CO
000 reader,_;y = reader, 0000, OO0 000 0O0O0OOO0OOOOOOOO
reader, 1 =dest, D0 O000. 000, dest, (10 bn+1<s<t+dn+a)d00
O dlist = desty 511, destiisnio, -+, destiisnig U, reader,d 00000000
D0000000000000000 dist', dlist?,---,dlist"0000. 0 z(1 <
¢z < h)000, dlist®"0 000 reader,0 P, dlist® = dest,,,dest,, 11, -+, dest,

Tz
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00, P, 000 P,.Gen(s, —1) 0000 sort ist0 00000, 00000
sorttime* 0 0 0. OO0, 0000000000.

00 40000cz(1<z<h)OOO,0000000.
(o) dist'0000000000.
() P,O0OD [t+2n+1,¢,— 100000000,
(c) z<hOO0O, (t+4n+1,0) < (sort_time®,i,) < (sort_time*™ i, 1)

(00) D000 z(1<z<h)0000C0OOOOOUODOOO0Oxz=A0000O
ggoooo.

00,z=h000000 (a), (h)0000000000. 0000, B, = B0
00. 00, work(Py,t+6n) > 620000 [t+2n+1,s, —1] 00000000
O. PO [s,s,]000000000000,000000 Lst00000O0O0O0
0000000, 000, distD dest,, 0 dest,, —™ . Pp—t P,
000000 P,O0000,dist"000000D0000.

00,z+1,---,h000000 (a), (b), ()00000000,200000
O (a), (b), (¢()0O0O0O0O0OC0OOO. OO0, (b)000000O0000. OO
00, P, =dest,, ,000. F,,,.000s,,s,00000 R,O00000. O
oo, p,.,000s000000000000 P, ,.Work_count(s, —1) > 5n
00000, (sorttime™ i, 1) < (sorttime,q,) 0000000, 2n+1 <
P, Work_count(t+3n) < 3n00000. 000,00 30000 [t+2n+
1,t+3n)0 P,,0 R,OODOD000000000. [t+3n,s,—1]0 PO
0o00o00oo0ooo,000000 s,000 pF,,0 A,000000000
0,00¢,—-1000 p00000D0OO000OOOOOODOOOOOD. OO,
P, Work_count(t+2n)=2n0000000,0030000 [t+n+1,t42n|0
PO R, ODD0ODO0O0OD0OODOOOODO.OOO,[t+2n+1,t+3n—-1]0 P00
goooooooOoo,pO000O0D0DOOO0.O0 S, —10 R OOOOOOODO
0000, P, Work_count(t+5n) >n00000,00 300 [t+3n+1,t+5n]

U rU0000 pO0O0O0O0OOOOOO0O0O. 000,00 s.,00 R O00O

Set+1
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O0o000o0ooooo,0000.000,P,000 t+2n+1,s,—1]0000
OO0o000o0.oooo,(hoooog.

00,00s¢ -10 PLO0OD0O0O0OO0OO0 P, .Work_count(s® —
1) < 60000000 sorttime®™ >t+4n+100000. OO0 [t+4n+
1,sort time**] 0 P, P, 00000000000000, P, —=" .,
P;,.,00, (sort_time®, i,) < (sort_time*™',4,.,)00000. 0000, (¢)00O
goo.

D00 (0000000000, (sorttime®,i,) =< (sorttime™,iy) 000
0000, 00 [s,s])0 POO0OOOOODOOO. OO0, diist®™d dest,, O

e P, —% . desty, 000000 P,0000, dlist®0 0

i
deStb‘z - sort_time

x
sort_time

O0ooo0ooo.ooOo, (apoboooo. ]
o0 5 00 A00000DODO0 ROODt+6n00000000O00O000ODO0O.

(00) D000 s(t+5m+1<s<t+dn+a)000 dest,J 000,00 dest,

o0 ppubdodoobobboobob,e<xedbooobooobog.
h=1000,0000 dlist=dlist'000,00 4a)00 dlsstDO0O0ODODOO

UobOd,00dkst POOOOO. OO0, a<200n0OO.

00 h>10000000.004(a)00,000 z(1<z<h) 000 dist®
0000000 D00. 0000,000000 ¢,y(1<z<hl1<y<h)D
00, PO dist! 0000, dhst™0 dist*0 00 00000000DO00O0O0O. OO
4b)00,000 e,yl<z<y<h)0O0O0,P,000 [t+2n+1,¢t+5n]0
D000 t+20+1,¢, - 1]000000000000. 00,00 4(c)00,
(t+4n+1,0) < (sort_time®,i,) < (sorttime?,4,) 000 00. OO0, P, =
P, =P, _, P, =P

y—17?

i:c?

,» b1 = sort_time®, iy, = sort_time? ", t5 = sort_time¥0 [

0000000200000, 0000, Pp—%, . .P, 000000 PO
00d, Py —% , e P, 000 P, — ., P,00000.000, dlist™
Odiist! 0000000000000, 00,P=P,000,00 200 PO
dlist™0 000 0. m

goooob wesoo,0ooooboobooboobooboboooo.
ogoo,boobooboo ppoodobooooooooooo, OO0 pP0 pOd
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goooogdoooooooooooo, 00p0 O0O0O0O0O0O00O0O00
coooobooooooooobooooo.oobo, 0000000000
gboobooboobobooooboobobobobobo.boo,000 sortlist
ooobooooboobooooooooooo, p,po0b0b00000o0aoon
goooobobogooobooooobon.

00 6 000000+ 00000000000 P,A000.0000FP, P00
00000 ¢,t;0 sort_listD00,00,000000 [4,t,[t;,t] 0 partial_reset
0000000000, 0000, work(P;,t) > 4n 00 work(P;,t) > 4n 00

0,P—i 000 P—] 00000,
(00) 00 ¢,;,0000000000.
(1) max(t;,t;) >t—2n 000

0000000000 (4,4) < (¢,/)00000. 0000, t-3n < t;—n+1 <
t; <t0O0O0O0O0. P, 000000 [t;—n+1,4]000000000,0000
00000+¢0 PO key,0000D00OO0O0D0O0.0000,00 P.Gen(t)O
00t¢t0000000 A0 ROODO0OOOOO0O0O00000 (03700000
000), (t,:) < (t;,7)00 ((Pi. Work_count(t' —1)— P;. Work _count(t' —1)),4) >
(0,/)000, P—{ KOOO0O0.0000,00 P.Gen()000 ¢t0000
odopbh pRO0000000O0000000,0000000¢0.

work(P,t) > 4n 00, ROOD [t—4n+1,4)0 000000000, OO,
2n < Pj.Work_count(t —3n) < 4n0 0 steps(Pj,t —4n+1,t—3n+1)=n00
0,0030000 [t-4n+1,t—-32]00000 ¢'0 PO R,0DO00O0O. OO
O, 000 P.Gen(t)0OODO0O0O PO ¢"O000000 PRODOOOOO
gooooobo. boog,oo+¢«000 pO0OO0O0bLOOo0bOO,bo0o0
000 t—4n+1,t-30|0000000. OO, P.Work_count(t) > 5n 00
steps(Pot —2n+ 1,6+ 1) =22 000,00 30000 [t — 20+ 1,40 PO R,
000oo000ooooo0oo0o. 000,00 [0 pOODO0OODOOOO
O0D0. 000,00 ,000000 PO partial_reset0 00. 00 [¢,4] O
000 4n—-100000, P.Workcount(t) <4nOOD0O0OOODO.
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000000 partial_reset] O

Pi e eenanes
P. y
J 1 1
time

0 2.8 0000 (2) max(t;,t;) <t—20000000 ¢t 17, ¢!

27 ]7 79

(2) max(t;,t;) <t—2n000

00000000004 >;00000. 0000, Pj—i P, P—si P,
goobobodoooooogodoobod. ogodo AU 000000 R;
ooooooo0oooooooo ¢00, 0 ;000000 ROOOOO
goboooboobboboo t;DDD. Pi—ﬂiinDD Pj—H{jBDDDDDDD,
P Work_count(t; — 1) > P;.Work_count(t; — 1) 0 O P;.Work count(t; — 1) >
P Work_count(t; —1)0 00,

steps( Py, t;,1;) < steps(Pj, t;,t}) (2.1)

Y Ve

gooon.

000, steps(P;,t;,t+1) > 2n0 P.Work_count (t;) =50 00000000
O, B.Work_count(t) > 7n000. 000,00 30000 [t—n+1,40000
0t¢0 PO R, O0000.00000,00[t-n+1,¢)00000 t;-'D P;0
ROOODO. P,PR00000D0 [t,4,[t,60 partial_resetd 000000,

steps( Py, t;,t}) > steps(P;, ¢ t))

iy by by Jrbis i
steps(P;, t:, 1) > steps(Pi,t),t7)

VR = AN RS |

DO0000. 000, work(F;,t) > 4n,work(FP;,t) > 4n 00 0O steps(P;, t],t]) =
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steps(P;,t! ) 0O 0. 000,

]717]

steps(P;, t;, %) = steps(P;,t.,1; ) + steps(P;, t; 1) — steps(P;, 15, )

Ly Yy Vg R ] 2 Vi Yy
> steps(Pj, t.,t)) + steps(P;, t! 1) — steps(P;, t), )

VERS R Jr %0 g Jrvir by

= steps(P;,t,t.)

VRS SR

0o0o,0(21)00000. n

000 edjustD 000000000,0000 RODOOO0O0O0O0000OO0
;00000 PO0000O0OO0OOOD, 000 AO000000000000
D00000,R0 ROOOO0O0O0O0OOOO0O000.000,¢,;000 P,P,
0000 partial_reset0 000 0000000000000000000000
oooo.

U 7o00000oobodf p,pO000,0000¢:0 F,0000000
000000000, work(P;,t) > 4n,work(P;,t) > 4n00000000. O
0,000 rpO0O000000O0 pO0O00O0O0O0O00O0, 000 »RO0O0
D000000000000000,00 [ty,,£0 P, AO000 partial_resetd
ooooooo.o0ooo,0o0 4,,t )0 RO 0000000000 0.

(00) 0O [4,;¢ 0 PO RODO0OOOOOOODOO,00000. 00O
0,00 [t;+1,00000¢t,0, 0000000 PO R,0000000O
0000, P.Clock(tim — 1) # Pp.Clock(t;m — 1), {P;} € P.Sync(tim — 1) C
P,.Async(t;,, —1) 00000, RO P,O0000000000,0000000
oooooooooooob. PO PO Py Async00O000000 ¢,; 00,
;0000000 P,O RjDDDDDDDDDt;n’jDDD.DDDD,DD RINEN
steps(Pj, t, 5y tmj) < steps(Pp,t,, i1 tn;) <20 00000. 000, t,; >t—2n

000, steps(Pj,t,,;,t) = steps(Pj, t,, i, tm;) + steps(Pj, tmjt) < 4n 00 P

7 Ym,j
oo t;n’jDDDDDDDDDDD. 000 work(P;,t) >4n0000. OO,
tmj<t—2n000,0030000 [tm,;,t—1]0 A0 R,000000000
DDDDD.DDD,t’m’jDDD P,00O0 partial_resetd OO0, 000000.
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P, .Clock(t'):=R .Clock(t'-1)+1
Pi ____________________________________ 4 AN
steps(llz?,t,t) ooooo,
teng(B. t partial_resetD) O
P. R,
t-4n t t

time

029 0000¢>t—4n+1000

00 8 000000 ¢ 00000000000 P, RO000.00¢0 P, PO
0000000000000000. 0000, work(P;,t) > 4n, work(P;,t) > 4n
00000000, P.Clock(t) = P;.Clock(t)0 0000

(00) p,P0,000000 P.Gen(t), P;.Gen(t) D000, sort_list0 0000
O. P, R0 sort_list0 0000000000 ¢,;000000 600 P]——ﬁlpz
000 h—{ A00000. 0000000000, P;—i R00000. 0
000,PR000 P.Gen(t)DODODODO¢YOODOODO0OODO OOODOOODO
000000,000000000000,00 [¢,t0 PO partial_resetd OO
00.000, P.Clock(t') = P.Clock( —1)+100000. 000,00 700,
o0 [¢,¢0 PO OO000O0O0DOOO00OO0DOO. 00,00 [¢,¢0 PP
0000 parttal_ reset0 D0 0000000, 0000000O00O0O0OODODOO
gogooooobo.ogg,

steps(P;, t',t) = steps(P;,t',t) (2.2)

00000000000.000,¢ >t—4n+1000,00 [¢,400 B, P00
000000000000000000(22)00000.0000,¢ <t—4n+1
oDoooooo.

00 300,00 [t-4n+1,t—n)00000 0 RO ROOOOO. OO,
00 [¢,4)0 FOODOO0O0O0D00000000,¢(<t-x)0000 PO RO
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P, .Clock(t'):=PF .Clock(t’-1)+1
: / A

- Pt / dtona(D partial_reset[] [

P osB )

t’ t-4n " t-n t

time

0210 0000¢<t—4n+1000

00o0o0o0o0o0o0ooooo0oO0on. oo [¢,to p,P0000 partial_reset
ooooooo,o0 ¢,t)0ooobo0 pO OO0 PO00CO0O0O00OO0
00000. 000, steps(P;,t',t") = steps(P;, ¢, t") 00 0. 000,00 [¢", ¢
00 P, 000000000000000 steps(P;,t",t) = steps(P;,t",¢) 0 O
O00.000,0((2)00000. [ |

O00000,00000000 parttal_resetd 000 000O00O0O0OOOOOO.

00 90000 POOO t0 partial_ reset0 000 0000, work(P;,t) < 6n
ooooa.

(00) POODO¢0 R,0000000,t0000000 PO ROOOOOO
O00D0D0D000D00 ¢000. OO t0 partial_reset0 OO0 O 0000000
0,00 500 work(P,,t) <6n00000. 0000, 00 t0 partial_resetd
0000000000o00,0000 (a)naps I);, (b)[naps I1);, (c) O 52-5200
00000000oDo0o0obooobooobon.

(a) [naps I|;0 P, Work_count(t —1) >n 00 P.dif f(t) <0

0000 pPRODOO[M+1,t—1)000000000O. P.Work_count >n,00 3
00 steps(P;,t',t) <2n000, work(P;,t) <2n00000.

(b) [naps 1I);0 P;.Work_count(t —1) >n 0O P;.Invalid; > Gen
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P00 PO0ODOOODOO Plnvelid; = P,.Gen(t—1)0 00000000 ¢;,000.
uooooono RO RO00Oo0oood t;DDDD,DD [t;,tj—l]DDD
D00 ppO0D00000000,00 300 steps(Pi,t),t;) < steps(Pj, t;,t5) <
3n—100000.000,00 4+1L,t-100 PO RODODOOOOOOO
0000000, P.Work_count(t —1) > =, 00 300 steps(P;,t; +1,t) < 2n
00000, 000, steps(P,t,,t) <50 000,00 [¢,¢; — 1000000 P,

s Vo

00000000000 work(P,t)<bnO000O.

(¢) O 52-5200F;.Sync(t—1) ¢ P;.Async(t—1), P;.Sync # 00 0 P;.Clock(t—
1) # P;.Clock (t — 1)

O00t00 5300000000 P.Work_count(t—1)<6n000, P.Sync(t —
1) #000 PO 5n < P.Work_count(t,,—1) < P, Work_count(t—1)0 0000
tx U0, 0bogoobboog p,OO00DLO0O0D0O0O0O0bLO0ObLbDDO,n
D0000000000000. 0000, P.Clock(tn) = Pn.Clock(tm — 1) + 1
O0000.00,work(P,t)>6n00000000O0ODO.

P, P0t000000 sort_ st 0000000000 ¢,¢;,000.00,t00
0 PO0OOO partial reset0 000000 °000. D000, Work_count(t°) =
0000. work(P;,t) > 6n00 P.Work_count(t —1) < 6n 00, PO [¢°¢ 0O
00000000 00000000000. 00 300, 41,4+ 0 PO
R;, R ,O000000000000000000.00,0,¢,0000 P,0,1
D000 POD00000000. 000, work(Pa,tw—1) > tm—t°—n > 4n,
work(P;,t — 1) > work(Pj,t, — 1) >4n00000. 00,00 ¢, — 100 P,
ggdbobooogbooogn.

(cl) OO t,—10 RODDOODOOOOOO

00 800 P,.Clock(ty, — 1) = P;.Clock(t, —1) 00000, OO0 [tm,t—1]0
P,P0000000000000, P.Clock(t—1) = P;.Clock(t —1)0 000
0,(c)00000.

(2) 00 t,—10 POOOOOOO0OOO
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P,P0000 t, —3n(>t—4n) 000000000 Work_count 0000
O sort_list 0 0. Py, Py, Pul [tm — 3n,tm — 1] 000000000000,
Pn—i P00 P,—4 PO0O000. 000, 000 Pp.Gen(t—1) 000
ooo¢ 0 p,000000O0DDODODOCOOOODOOOD, P,00CO0OOOO
0000000000000 0. 0000, Py.Clock(t,,) = Pu.Clock(t,, — 1) +1
00000. P,000 [t t,—1000 [twt —1]000000000, 00
Oft,t—10000000000. 000, steps(P;,t,,,t) = steps( P, t],, 1)+
steps(P;,tm,t) 00 Pi.Clock(t —1) = P;.Clock(t —1)0 0000, (c)00O0DO
u. |

00 10(00000)000¢t>1, 0000000 ROOO, work(P,t—1) >
120000 P.Mode (t — 1) = "adjusted’0 0000, work(P;,t) > 120000
P,.Clock(t) = P,.Clock(t —1)+100000.

(00) D000 PO t-122000000000000,¢t-12200000
000000000 ¢t ,000.0000 RO t-12200000000000
00t =1000. 00 $,,k,00000 ¢0 partial_reset 0000000, O
0900, work(P,,t') <6n 00000, 00O, work(P;,t) > 120000, PO
OO0 t—6n 000 partial_reset0 0000000, 000, P.Work_count(t —
1) >6n00000, 00 500 P.Mode(t — 1) = "adjusted’0 0000, O
O, work(P,,t) > 120000, RODO0t0 00000000000 OO0OOO
P;.Clock(t) = P,.Clock(t —1)+100000. []

00 11 (000) 000 ¢ > 1, 0000000 P,PO000, work(Pt) >
12n, work(P;,t) > 120000 P;.Clock(t) = P;.Clock(t) D 0D OO .

(00) OO0 1000, P.Mode(t —1) = "adjusted” 00O P;.Mode(t — 1) =
"adjusted’00 0. OO0, OO0 800 Pi.Clock(t) = P;.Clock(t)y 0D OODO.
|

go 10, 1100,00 120000.

gb 12 000bob0bowest,0udbd 12z2000000000000D00OO0
gdaag. ]
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shared variable local variable

Clock, {0,..., M — 1} cur

Count, {0,...,12n — 1} latest_gen;(j = 0.n — 1), {0,1,...,n + 1}
Work_count, {-1,0,...,8n} latest invalid;(j = 0..n — 1), {0,1,...,n + 1})
Gen, {0,1,....n + 1} latest L mycount;(j = 0..n — 1)

Invalid; (j =0..n—1),{0,1,..,n+1} mnoread;(j =0.n —1), {0,1,..,6n —1})
Last_count; (j =0..n — 1) ignore, "true” or ” false”

Last mycount; (j = 0..n — 1) next

Stagnant; (j = 0..n — 1) pos

Mode, ” adjusting” or ” adjusted” key;(j = 0..n — 1)

Syne, C{Po, P1,.... Pn_1} list[0..n — 1]

Async, C {Po, P1y..c) Pn_1}

0211 000000 ssWCS (BRODODO)
2,5. JbOgobogobouobuogoogon

2.5.1 0O0OO0O0OOO ssWCS

goo,0bboobodgbbboooubbbboobbbbd 1
oooooopooobooooooo sswosooooo.ooooo poDbDbO
ooog 2112214000, 00,000000 wosoboooouooobooo.

goooboo

Jdooooooooooooooooooooooooooo,ooogo
googon.

0o, ddgboboooooooobouooob, 000 pboboboood
O0000000000000 (inconsistency I);, (inconsistency II);, (inconsis-
tency III);0 00O (O 2.130 1020000 10700). ,O0000O0O0OOOOO,
partial_reset 00000000000, OOOOO partial_reset 000000
I A 1 A A 6 A A

Oo0,0000000000000000000. 0000 RO, ROOO0O
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66 repeat forever do on receipt of a pulse
67 read Reyr;

68 ignore := false;

69 if (check_nap) then partial reset; /¥ 0000000 */
70 elseif (check_consistency) then partial reset; /¥ 000000 */
71 elseif Mode = ”adjusting” then adjust;

72 else /* Mode = ”adjusted” */

73 Clock := Clock + 1 (mod M);

74 next := cur + 1 (mod n);

75 Last_countcyy := Peyp.Count;

76 latest_L_mycount,,,,. 1= P.y».Last_mycount;

7 Last_mycount,,,,. := Count;

78 latest_gen,,, = Peyr.Gen,;

79 latest anvalid,y, := Py, Invalid;;

80 cur = next;

81 Count := Count + 1;

82 Work_count := min(Work_count,8n — 1) + 1;

83 end

0212 000000 ssWCS(PROOOODODOOOO)

goooood, pO pO00 CountDOO00OO0OO0O0OOO0O0OO0O RO P
guoodbobobuooooo.bob,bbuouodboooobbobbooood,
ooboooooobo o000 ROODOOOOO0OOO0O, 0000000
ggoooobooboo. gob, pboouguouoob, bboobodobood
O,pp00oooooooooon, pubdd uooooooooooon
rOOoooobooooooobo. oobooooobbooo,booOob
000 PO POOOOOOOOOODOODOOOODOD (O 215). RO, PO R;
oobooooobooooboo pOO0ODOO0000000 noread;00OOMO
O.000000 RODODO0O0ODODOOOODODO0OD RCoumtOOOOOOO
P;.Lastmycount, 0 00000, 00 000000000000 COOO0O PO
rROOOO0OODODOOOOODOOO0OLOOO.DOobbODODwWeSoooo, o
00000 ssWweSOO pO000dodoooo3»—-100000000 RO
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84 procedure check_nap;

85 dif f = (12n + Count — Last_mycount.,, mod 12n)

86 —(12n 4 P.yn.Count — Last_count,,, mod 12n);

87 if Py..Stagnant, = Last_mycount,,,. and diff >0 thendiff := 1;
88 if (Peyr.Last_mycount; = latest_L_mycount,,,. and diff # 1)

89 then noread.,, := min(noreadc,, + Count — Last_mycount,,,,., 3n);

90 if noread.,, > 3n then Stagnant,,,. := P.y,.Last_mycount,;

91 else Stagnant,,,. := L;

92 else noread.,, := 0;Stagnant,,,,. := L;

93 if (diff > 0 and P.,,..Gen = latest_gen,,,)

94 then Invalidey, := Peyr.Gen; ignore := true;

95 return { [naps I|;: Work_count > n and diff <0 } or

96 { [naps II];: Work_count > n and P.,,..Invalid; = Gen }

97 end procedure;

98 procedure check _consistency;

99 if (Poyr.Work_count(t — 1) > 5n and P,,,..Mode(t — 1) = ”adjusting”) or
100 (P, Work_count(t — 1) > bn and P;.Mode(t — 1) = "adjusting”)
101 then ignore := true;

102 return { [inconsistency I];: P,.Work_count(t —1) > 6n

103 and P;.Mode(t — 1) = "adjusting” } or

104 { [inconsistency II|;: P;.Work_count(t — 1) < bn —1

105 and P;.Mode(t — 1) = "adjusted” } or

106 { [inconsistency III];: P;.Mode = "adjusted” and P,,,.Mode = ”adjusted”
107 and P;.Invalidcy, # Peyr.Gen and P;.Clock # P.,..Clock }

108 end procedure;

109 procedure partial_reset;

110 Gen := min{g|g ¢ {latest invalidy,...,latest invalid, 1,Gen}};

111 next := 0; Mode := "adjusting”; Work_count := —1; /* becomes 0 at line 82. */
112 end procedure;

113 procedure sort_list;
114 list[0..n — 1] := sort ids in the descending lexicographic order of (key,y,id);

115 Sync := 0; Async := 0); pos := 0; check_adjusted;

116 end procedure;

0213 000000 ssWoS(PROOOODO)
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117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147

148
149
150

procedure adjust;
if 0 < Work_count < 4n — 1 then next := Work_count + 1 (mod n);
elseif 4n < Work_count < 5n — 1 then
begin
if Invalideyr # Peyr.Gen
then keycyy := Peyr.-Work_count — Work_count;
else keycyr 1= —1;
next := Work_count + 1 (mod n);
if Work_count = 5n — 1 then sort_list;
end
else /* Work_count > 5n */
if tgnore or P...Work_count < Work_count then
begin
Async := AsyncU{P,,,.}; /¥*00 */
pos := pos + 1; check_adjusted; Clock := Clock + 1 (mod M);
end
elseif P,.,,..Mode = ”adjusted” then
begin
if (Sync € Peyr.Async and Pey..Sync # 0 and Clock # Peyr.Clock)
then partial_reset; /0000000 */
else
begin
Clock := P,,,.Clock + 1 (mod M);
if Sync C P.y,.Async
then Async:= AsyncU Sync; Sync:=0; /*00 */
Sync := Sync U {P,,,.}; pos := pos + 1; check_adjusted;
end
end
if (Work_count = 5n — 1 and Mode = "adjusting”)
then partial_reset; /00000000 */

end procedure;

procedure check_adjusted,;
if list[pos] = ¢ then Mode := "adjusted”; next := 0; else next := list[pos];

end procedure;

0214 000000 ssWCS(PROOOODO)
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o) ooo,r 0000000 P.ooooooo

Count = ¢ i J
; Last_mycount;= ¢, 3n-10 00000 PiD:DDDDDDDDDEIDD

J I pj
IPiIZI ROoooo

P H oot oo f P,
: 3000000 :
nore'adj =0 noreadj O 3n
Stagnantj =cC time

0 215 00 FPnoread;,J 0000000

goboooob.odd, Puaoread; >3n—10000, PO000 ROOOOO
00000 (02150004 0,00 PO ROOOOOOOOOODOOOOOO
ooooooboooo RO 3n—-100, RO 3n00000, ROOOOOOO
0. 000, PO Punoread; >3n—1000000 (0 215000 ¢)0,00
P;.Stagnant,0l P;.Last mycount, 0 OO DO0O. PROOO RODDOODOO¢
0o, P.Stagnant,00 POO0O0O count U0 DD0O0OODO0OOOODOOOOO,
pOoo0oooooboo. joooooo,pOObD00O0ObObOObDbObODO
pOOOO pOODODOOOOOOOOOOOOO.0O0C0D,ROO0O0O0C0OO
oooooooo pOobOOo0Ob0c0oooooooooo. oooo,00o0o0o00
sswosoooooooooooo wosoooooo.

gobobooogn

oooooooooweosocobooooooooooboobouooooo,oog
gobooboooboob. boooooweosoobouobuoon Work_count,
Gen, Count0 000000, 0000000DO0O0O0O0OOODOOOODODOO
goboogob,gobbouogobooogob. oo, ubooooooboobon
gooooo.

OO0 Workcount U0 DO DD 0OD0OO0DOOODODOOOOOOOOODODODOO,
gogbboabuougobboobobbdobbooooboooboooobbob
obooboobooo. booboobbuouobobooooooo pRO,b0O00
oo wcocstooooooooouoobooooobooooooooonoo
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ooob, pbooobboogoo, bbb bo. obo,ooog
J0o0o0ooobbOoboooboooDoobD, 00000 bOoOooDoooooo
goooodoo. b obobooogobobobobooboobobooboo
Oo0oOO0,pp00000000000DO00DODOODODODOODOO0ODbOObODOO0
00000000000 n0O00D0DOOODOOOODOOO. ODOO,0D000000
P;Workcount 0 U0 D0000OODO, O PO0OOOOOOOODOOOOOO
O00000,00000 WorkecountOODDOOODODOODOOODODODOOO
goooboobooogoboo,p0b000b0obooobobobooooooon
000000 oooboooooooobobo0o0 »0O0O0OD0ODOOOOODOODODO.
oo0d,Workcount 0 OUODO 8O0 0OOOO0OOODOOO.

O0 P.GenUO ,parttal reset 0 0 000 0O0O0OO0O0O0OO0ODOOOOOO0OO
ooo0oOoooo,000000 PO Ppnvalid; = P.Gen 000000000
pO0000O00O00OO0D0O0O0O0OD.OD000gg sswesoyg, partial reset
0000 GenODODOODOOOD.OODDO PO,00 GenOOOQOOOOOO
00 PjInvalid, = P,L.Gen DO 0000, 000000000 GenOOOOO
0ooood PO Invalid; OO0 partial reset U0 P.Gen D OO OOOOO
gobooooob.obgoog ssweosoogooooboobooboooo,
00 GenOOUOOO n+100000. OOOODODO ssWCSOO,00000
O0000 g0 partial reset 00000000 DOO0OOODODOOOOOO,OO
partial reset 0 000000 0O0OOOOOOOOOO g0O00ODODODOO. OO
O0,000000000000D0000O0O00,00D00000D00000DOO
gooboooooo.

OO0 Count 0, OO0DOD0O00O0OO00OODOOOOOOOO, 00000 PO
R,O0O0O000O, RO000 ROODODOOOOOO0O0O RO B0 Count 00O
ooooooooooooobo, pO0O0ODOO PRPOOOOOOCOODOCOO. OO
O,ppO00000¢:t0000 RROODOOOOOODOOOO,00000DO 17
00 P.diff(t)y>-9n00000. 00,0000000000,000000
ssWCSOOOoooooooo, Pdiff(t)<3n—100000.

00 13 0000000 P,R000 t000, steps (P,¢,t) 00000000
0000 #00000000,PO00 [¢,¢t—1000000 R, 000000
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gogouobobood.

(a) n < PpWork_count(t—1) <5n 000 Tn < PL.Work_count(t—1)000 ,
steps( P, t',t) =n

(b) 5n < Pp.Work_count(t —1) < Tn 000, steps(P;,t',t) =2n
(c) P, Work_count(t —1) <n 000, steps(P;,t',t) =3n—1 n

goboon sswoso,0d Countd 1200000000000, —9n <
P difft)<3n—-100,000000000000000D0O00O0O0OOOO.

2.5.2 0JO0O0OOO ssWCSOOOUO

OO000D00 ssWCSODOOODO 1mO0O0O0O00D0O0O0ODO0OODOOOOO
OOooooooad.

oo0o0o0o0o ssWesSooooo,0bo00,00000booboooon
partial reset 0 0000000000, 000000 partial reset 00000
O0000000,0000000000 (partial reset000000)00000O
go000o000obO0oDOO0bOooOODOO0000.0bL,0Db040D00OD00ODDO
000000000000 000O0O000000O0000. JooooOoooo
00000000 Work_count, Gen, Count 0 00O 0O, OO 15, 16, 170 00 O
gooo. obooog ssweshooooogoo wesoooo,obood
000 000000000000 D0000O0DOO0OO0OO0O0ODOOOODOODOO,
P, Work_count(t' —1)=6n—-10000¢00000000000O0O. OO 200
O,00000000000000000DO0oDODdbOooboooooog,od
000000000000 000, P.Work_count(t' —1)=6n—10000 ¢0
0000000000000 00000.002400,00000000000
g0oodb0obOobooU0obOoo0ooobboOOobOobOOoUOb,0D0O0oDOoDO
O0ooooboooooo. og200,00b0b000b0ob0bobo0bo0o0ooDo
00000000 bObOD0O0O0o0bOoOO0YmbO0OO0OO0ODDOO. 0O 2600,0000
goob0obbobobOooboooobooobobOoobDoggommboooooo
O0.0027,280,0000000000000000O0DOOO00OOODODOOO.
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Oooooooobooo, 24200000000 weoesSoooooooog
godooobogboon.
gb,boogguobogod,

[inconsistency I];(t): P;.Work_count(t — 1) > 6n and
P;.Mode(t — 1) = ”adjusting”

[inconsistency II];(¢): P;.Work_count(t —1) < 5n — 1 and
P;.Mode(t — 1) = "adjusted”

gouoobobooggbbobod.

00 140000 PROOO tO000 finconsistency If;, [inconsistency 11,0 O O
0000000000000 0000, work(P,t)=100000.

(00) work(P,,t) >200000. 0000, L0000 t—10 partial resetd O
0000, Work_count(t—1) = 0AMode(t—1) = "adjusting”0 0 00 OO [incon-
sistency I];(¢), [inconsistency II|;(1) 000 0. OO0, OO0 t—10 partial reset
O00000000000.0000, 00 [inconsistency I];(t — 1), [inconsistency
II;(t—1)0000000000,00 P.Work_count(t—1) = P, Work_count(t—
2)+100000. P.Work_count(t—2) > 6n0 0 P.Mode(t —2) = "adjusted”
O00,00¢t-100000000000000. P.Work_count(t—2) =6n—1
000,00 ¢+—1000000000 check_adjustedd true D OO0 OO0 OO
O00000000. checkadjusted falseDODOOODO 46000000 ¢t—-1
O partial reset 000 00000000000. P.Work_count(t —2) < 5n —2
00 P.Mode(t—2) ="adjusting’0 00,00 ¢t—1000000000000
O0.000, 00 [inconsistency IJ;(¢), [inconsistency II);(t) D 00000000
0,0000 RODODO ¢t000 [inconsistency IJ;, [inconsistency 11,0 000 0O
ggbouoooobobobboobboogg. [
OO0 Workcount DD ODUODDOO0OO,0000000000.

00 150000 P00000 0000 sortlist000000,00 ¢0 BOD
0 P.Gen(t;)00000000000.00,A00000000000.000
O, ()t <00 P,P00000 [¢,t—10000000000 partial_reset
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D[ID[Iq oooood

)

v

p partial_reset

‘ 0o |

) j PiD
t : —>time PiT RJ.DDDDD
1 000 Invalig 0000,
ooad Invalidi::gi

0216 0000 GenOODO

0000000, (Pp.Work_count(t;),j) < (P.Work_count(t;),7) OO0, 00
000oooag, (Pp.Work_count(t'),j) < (P;.Work_count(t'),:) 0 0D0DODO.

(2)t; <t < t;+300 P,PRO000D [t,¢ -1 0000000000
partial_reset 0000000, ((P;.Work_count(t;),j) < (P;.Work_count(t;),1)
000, (P;.Work_count(t'),j) < (P, Work_count(t'),:) 00D D0ODO.

(00) t;—5n<t <t;+3n0000 ¢0000
P, Work_count(t;) = P;.Work_count(t') + t; — t' (2.3)

googd.

(1) 0 < Pj.Work_count(t;) < 8n 000 P;.Work_count(t;) = P;.Work_count
(¢)+(t;—¢)00000.0000,023000000000. P.Work_count(t;)
=8n 000 P;.Work_count(t;)—P;. Work_count(t;) =3n>00000000. O
000, P;.Work_count(t;) = min{(P;.Work_count(t')+(t;—t')),8n} 0 0 2.30 0
P; Work_count(t')—P;.Work_count(t') > P;.Work_count(t;)—P;.W ork_count(t;)
>000000.

(2) P;.Work_count(t'—1) < P,.Work_count(t'—1) < 8n0 0 P;.Work_count(t')
= P, Work_count(t;) + (' —¢;)00000. 000D, 0 2300000000
0. [

ObOOoodobbO GenbOOOO,00b00000O0DOO.
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00 16 work(P,t) > 2n+ 1000000 PO partial reset 000 ¢ 0O
D00O0. 0000, 000 j(j #4) 000 P.Gen(t) # PInvalidi(t) OO
P,.Gen(t) # P,.Gen(t—1)00000.

(00) 00 140 work(P,t) > 2n+ 100, 00 ¢ 0 PO partial reset 0O
O [inconsistency I);, [inconsistency ;0 000 00000000. 000,00
partial reset 0 0000, P.Work_count(t—1) >n00000. OO0, [t—n,t—
1100 PO partial reset 00 O00000. 00 1300 RODODO [t—2n,t—1]0
0 R000000D0000000000. 000, Prlastinvalid;(t—1)(j # )
O g;, P.Gen(t—1)0 0 00.0000,00 /00000000000.

o [t—2n,t—n—1]0 PO partial reset000000000,1=[t—n,t—1]
O000.0000,00 300000 [t—-n,t—-1]00000.

o [t—2n,t—n—1]0 PO partial reset 0000000000, I = [t—2n,t—1]
gogg.

O0216000000,00 100 PO parttal reset 000000000, 000
0 P.Gen=¢00000.000,00 RO [¢,t0 PjInvalid, 0000000
0,¢00000.000 assigngend, 000 ¢g;00007#¢,0000000
OghOoooono,b0o0o0oooo. [ ]
O00,000000 ssWSOO,0000 F;0 partial reset 00 2n+ 10
Ooooooooooooooooo,bbooobob PO ROOOOOODOOO
0000000000 0000000 parttal reset 00 O000000O0.
oobobooobood sswesud, 000 checknap OO Pi.Stagnant;U]
P;. Lastmycount,0 000 000000,0000 pO AO ROOOOOOO
0o0o0oboo0oooboooo. bbb oboooooobooo.

00 17 pO0000O0¢t00000000C000 R,O00,000000 ¢0 RO
00 ROD0O0O00O0OO0O0O. 0000, (1) steps(P;,t,t') — steps(Pj,t,t") <
—9n 000, Pj.Stagnant,(t' — 1) = P;.Last mycount,(t' —1)00000. (2)
P;.Stagnant,(t'—1) = P;.Last_mycount,(t' —1) 00O , steps(P;, t,t') — steps(F;,
t#)<0000D00.
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ooo,r 0000000

Count=c j
H Last_mycountj: c
P - :
N
--------------------------- I PioORODOOD
p. 00t 0ot oo v oot P,
] ; i 3000000 : ;
' noread; = 0 noread; J 3n . .
Stagnantj =cC i time
on000000

0 2.17 00 170 steps(P;, t,t') — steps(P;,t,t') < —9n 00O

(O0D0) (1) steps(P;,t,t'") — steps(P;,t,t') < —=9n 0O O steps(P;,t,t') >9n0 00
00.000,001300,00¢t0000000 RO RODOODOOOOOYO
0D#0000000 PO ROODDOODOOO#0 000, steps(Pj,t,1) < 3n— 1,

steps(P;,¢,¢')<3n—-100000.000,

steps(P;, T,1) = steps(P;,t,t') — steps(P;,t,1) — steps(P;, ¢,t')

> 3n

00000 (0217). 00 [(,f—1)00 RPODO00 R;O0O00O0DO0OO0,
0000 F.Lastcount;JOOODODOO. ooO,[t+1,7)0 PO ROOOOO
00000 Pjnoread;00 Pj.Count — Pj.Last-mycount,] DO OO0, OOO0O,
Pj.noread;(t') > 3n 00 0, P;.Stagnant,0 P;.Last_mycount,(t' —1)0 0000
0. 000, P;.Stagnant,(t' — 1) = P;.Last_mycount,(t' —1)0 00 00.
(2)00t¢t0000000 PO RODODOOOOO:O0O0YODOODOOOO
P;0 ROODDOODDOOOYOOO. OO [,,¢—-1]00 POOOO rR;,0000
D000000,0000 P.lasteount;0 000000, 000, [[+1,7]0 P
O ROOOOOOOOO0O Pjnoread;] P;.Count — P;.Last_mycount,lJ O [
0 0. P;.Stagnant,(t' — 1) = P;.Last_mycount;(t' — 1) O 0 P;.Stagnant,(t') =
P;.Last mycount;(t —1)00000. 0000, 00¢00 Pj.noread;(t') > 3n0
O00.0000, steps(P;,t,1") — steps(P,,¢) >3 00000. 00,00 [t,¢]

OO0 PO ROODOOOOOOODODO,DOD 1300 steps(Py,t,t')—steps(P;, T, 1) <

? ?

42



steps(P,t,t')<3n—-100000.000,
steps(P;,T,1') — steps(P;, t,1')

> steps(Pj,t,t') — steps(P;,t,t') — (3n — 1)
0

vV

steps(Pj,t,1') — steps(P;,t,1')

V

goood. [ |
oodo,00do o000 dododd ROodo, 0 t00d00
0000 RO000000D0000, steps(P;,t,t') — steps(P;,t,t') < —9n 00
00 PO Count0DO0 00000000 70O00C0O0ODO). OO, RO CountO
000000000ooO0O0O pOODOO L)ODODDODOODOOOOOO.

000 sert st 0O0O0O0OOO0OOODOOOOODODOOODO.

00 18 000000 ¢000. 00 [t+2n+1,¢t+50)0000, 30000
00 P, P,,P,000000000,00 partial reset0 0000000, 00,
(t1,71) = (ta,32) < (t3,43), 1 > t+4n+ 1,t3 <t+50 00000 t4,ts,t30, O
000 Py, P, P,0000 sort ist0 000000, 0000, Py, —i Py, O
00, Pp—{* P, 000000 /000, Py —2 P, 000 P;, —3 P; OO

goo.

(00) P0,00¢-n+,000000 R,ODODODOO, Pj.key, 00000
0,00 (4,0 sort listD O 0O. DDD,PjI.keyj,:xDDDD,Pj:—ﬂ:le 00
(z,5/) > (0,;;)000. 00 P,0,00¢—-n+7000000 R;00000
O Pj3.keyj,DDDDDD,DD ts0 sort_ListOO0 0. O00O0O,t4+4n+1<t <
ts <t+5mO0t3—-2n+j <t;—n+yj <tz—n+y700000. P,O0O0O
[ts—2n+j',ts—n+j 0000000000000, 00000000000
000000,00t¢t—-n+7/000000 P,00000000.00¢t3—n+7
0 p,0 P,O000O0DOOO0DOOOOOODO ()0D0000, 0000000

O0ooo0oo (booooo.
(a)
(Pj3‘keyj’7jl) = ((Pj, Work_count(ts —n + i—=1)—
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Pj . Work_count(ts —n+j —1)),5')

(min{(4n + j' + z + t3 — t,),8n} — (4n +j')),5)
min{(z +t3 — t1), (4n — j')}, ')

(
(
(ts — t1,51)
(
(P

AVARRY,

t3 - t27]2)
.-key;,, j2) (0 P, — P,00)

(Pj3.keyj,,j') = (—1,j,) < (0,]3) = (Pj3.k€yj3,j3)

(a),(b) 00000 Py—f P, P, —# P, 00000, n
POODO yUOOODOOOOOOOOOO,0000,00 t0 sort_listd OO

00, partial_reset0 000 0000000000000 0OO0¢O0DOOOOO0O0O

steps(P,,t+ 1, +1) Da(P;,9) 000,

ob192000,0000000BOO0O0ODO0ODOOD ROOODO.

00 BO PROOO t0 partial_resetD 000 , work (P;,t+6n) > 6n0 0 [t,146n]
ogoooooon,ggoooooooon.

O0BOOOO ROOO,a=a(P,P.Gen(t))D00.0000,00 P.Gen(t)
000000 pOO00O00O0OOO0OODOODOO0O0, 00 t+6n0 partial_reset]
gdbba=200000.000,a<nb00d0boboogo, OO0 ¢t00O
ooooooooooo.

000000 wesooOo A21I00D0)00000O0O00O0O0OOOO,O00
BOOOODOOOO RODODODOODOODOOO t+5n+1L,t+5n+a 0000
000 sO000,20000000 reader,,dest, 100000000 ¢4 50+ &
O0O0D0OoO0O00o0og. 00, readeryisnia = PO0O0O. OO sUO reader, O
0000000000000 dest,JOODODO. readery,desty(t+5n+2 < s <
t+5n+a) 000, reader, 000 s0 s—100000000000000OO
000 reader, 1 = reader, 0000, OO0 OO0 0O0OOOOOODOOOOODO
reader, 1 =dest, 10 000. 000, dest, (10 bn+1<s<t+dn+a)000

44



O dlist = destyyisn11,destiisnio, -, destiisnig U, reader,d 00000000
D0000000000000000 dlsstt, dlist?,--- dlist"0000. 0 2(1 <
¢ <h)0O0O,dlist* 0000 reader,0 P, dlist” = dest,,, dest,, 41, -, desty
OO0, P, 000 P,.Gen(s, —1)0000 sort ist0 00000, 00000
sortttme*0 0 0. 000, 0000000000.

00 19 0000 z(1<z<h)00O0,0000000.

(o) dlist*0 000000000,

() P,O0D [t+2n+1,s,—1]00000000.

(¢c) z<hOO0O, (t+4n+1,0) < (sort_time®,i,) < (sort time* ™ i,11) =

gd oo, o0 20000b oo 40000000 b,d00 1sgod
goo.
gobo,uogmooobooggb,booggobobod.

OO0 20 00 pOUOO0OO0OO0COOO POOOt+6n0O000O0000O0O0OOO0O
0. []

gg2000d0oobosoboboboobgan.
O0,000000000000 sortist000000OO0ODOOOOOODOO
g,gbooboboogd.

od 21000000 ¢, 0oodouaaood p,p000. 0000 P
000 0 sort-listD 00, OO, OO0 [t,t] O partial_resetD D000 000
O0. 00, PWork_count(t —1) > 5n, t; >t—20o00000. 0000,
work(P;,t) > 4n, work(P;,t) > 4n 000, 00 F.Gen(t) D00 ¢t0000DO
o0 p 0 pOOOOOOOOOO.

(00) 00 P.Gen(t)0D 0D tO0O0O0O0O0 O ROOCOOOOODCOOO
0000000. work(Pyt) >4n00, RO00 [t—4n+1,¢)0 00000000
0.00,2n < Pp.Work_count(t—3n—1) < 4n—100 steps(P;,t—4n,t—3n) = n
000,00 130000 t—4n,t—-3n—-100000 ¢0 PO R, 0000
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0. 000,00 PGen(t)O PO ¢'"0000000 ROCODOOOOODOOO
godd. bboob,00t¢todb pO00000O0O0O0O0O0ODOO,00U0UOgo
[t —4n,t —3n—1]0000000. OO, P.Workcount(t —1) > 5n 00
steps(Pt—2n+1,t+1) =20 000,00 130000 [t—2n+1,4]0 PO R,
0000000000 0oooooO.ooo,00 [t 0 poO00O00000O
00O0. 000,00 [#,4000000 PO partial_resetD 00. 00 [¢,4] O
000 4n—-100000, P.Work_count(t) <4n000D0DO0ODO. [

0d 22000000 ¢ 00000000000 FP,P000. 00¢t000,
P, Work_count(t —1) > 5n 00 P;.Work_count(t—1) > 5n00000000.
00, P.Work_count(f) =3n 0000 f<¢)0 000000, ROOO [ft—1]
0000000 sertlist00000O0ODO ¢, 000. 0000, work(P;,t) > 4n,
work(P;j,t) > 4n 00 Pz-—ﬂ;in Oo00,¢t000 pO0O0O0 sortlist00 OO0
000000,00000 BO000 sortlist000000 ;000 P —, P,
goood.

(0DD0) 00, PpWorkcount(t;) =5n000040000000000. 004
00D000000,t000 PODOO sortlist000000 ¢;00000.

(1) t;>t—2n000

D000,t-3n<t-n+l<t; <t0D000. P, AO000D0 [t;—n+1,1]
O000000o0o,000000000 ¢0 PO key, 0D OO0DOOODOO
0.00210000 P.Gen(t)DO0Ot00O000O0O0 RO POO0OOOOOO
00000000 P—i P00, P Work_count(t;—1) < P;. Work_count(t; —1)
00000. work(P;,t) > 4n, work(P;,t) > 4n 0 0O, P;. Work_count(t; — n) <
P;.Work_count(t; —n) =4n 00000. 00O, P;.Work_count(t;) = 5n 00
D06(>t-n)000 [t—3nt—n]0000,00 t(>4)00000.

(2) ti<t—20000

0000 RO ¢000000 RROODODODODODODOODOODODODO #0O0ODO.
B——)iinDD,

((Pj.Work_count(t; — 1) — P;.Work_count(t; — 1)),7) < (0,1) (2.4)
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goo
P;.Invalid;(t;) = P;.Gen(t; — 1) (2.5)

O00o00oO0. 00, PRWorkcount(t) = 3n 0000000000000 P
000 #000000 ROODODOOO0ODOA0D00, steps(Pytit) = n >
steps(P;,#,¢)00000000,0 (25 00000.0 (2500000000,
PODD0#(<t—20)000 RO00DD0000000. PL.Work_count(t) > 5n,
steps(P;,t—2n,t) =20 000 1300, OO0 [t,¢—1]0 000000000
00 partial reset 000, 000000000. 00O Pj.Work_count(t) > 5n
00, 006,,0000000. 0 (250000000000, 0 (24) 00
P; Work_count(t, — 1) — PL.Work_count(t; —1) < 000000. 00O ¢00
Ot—3nt—1000, 00 work(P;,t) > 4n, work(FP;,t) > 4n 00, OO
.0 t0000000. 00,0 (250000000000 steps(P;,f,t) >
steps(P,t,t)) =n 0000000, Pp.Work_count(f;) =50 00004 000
guo.

00,P0 ¢000000000 sortlist000000 ¢ 000 P,—i P00

gogbboboood.
(a) t; >t—2n000

0000,t-3n<t—-n+l<t;<t00000. P, 000000 [t;—n+1,1;]
DDDDDDDDD,DDDDDDDDDt;D PO key,00OOOOOOOOO
0. 000, (4,§) < (4,)00000. P,PRO000000 [t—n+1,4)00
O000oOo0o,0000ooOooo 0 PO key,0000O0DO0ODOOOOO.
0000,00 210000 P.Gen(t)0OO tO0D0OO00O0OO00O0 PO POOOO
000000000000, (0 121000000000) ((P;. Work_count(t, —
1) — P,. Work_count(t; — 1)),5) > (0,4), 0000 P,— ROOOOO, OO
D0D00. 000, (4,4 < (4,/)00000. 00 210000 Py.Gen(t) O
Oo:oo00o0000 RO pOobOdoboooocooooooon,dn a0
((P;. Work _count(t; — 1) — P;. Work_count(t; — 1)),i) > (0,j) 0 0000. OO
0,P—d PO0ODD.

(b) tj <t—2n000
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gooooobogooo [t}—l—l,tj]DDDDD PO rROOOOOO00000O0
god. goood t;DDD. uo, Pj——%PiDDDDDDDDDDDDD
ogd. Pi——ﬁ'inD 0 F; —>§J.Pi 0000000, (P;.Work_count (t; — 1) —
P Work_count(t;—1)),5) > (0,4) O O ((F.Work_count(t; —1)— P;.Work_count
(#— 1)) > (0,4)0 00,

steps(P;, t;, 1) < steps(P;, t;, ;) (2.6)

(A ] Jr %107y

gooog.

000, steps(Pi,ti,t + 1) >2n0 Pi.Work_count (t;,) =5n 00000000
O, P.Work_count(t) >7n000. 000,00 130000 [t—n+1,4000
00¢0 O R;,00000.00000,00 [t—n—i-l,t]DDDDDt;'D P;l
ROODOO. P, P,0000000 [t,t),[t;,f] 0 partial_reset0 000000,

steps(P;, t;,t]) > steps(P;,t;,t))

» gy Ve 7 Y Ve

steps(P;, t ") > steps(P;,t,t))

Jr%30 %5 = 2y Y50 Yy

D0000.000,work(P;,t) > 4n, work(P;,t) > 4n 0 0 0 steps(P;, t],1]) =
steps(P;,t!,¢) 00 0. 00O,

]717]

steps( Py, t;,1;) = steps(Py,t;,t]) + steps( Py, 1], t7) — steps(P;, U}, 17)

y iy by s gy
> steps(Pj,t;, 1) + steps(P;, t; ,t!) — steps(P;, t:,t")

70 %8 Ve Jr Y0 Yy Jr Y0 Yy

= steps(P;,t;, 1))

Jr i Yy

00o0,0(26)00000. n

D000 FAOO000000000000¢,,00000 AO0000O000OO
0,000 PRO00O0OOOOOOOOO00O000000,¢t,000 P,P000
O partial_reset0 0000000000000000000, R0 RO0OODO
0000000000,000000000

0d 23 00000000040 p,p000,0000¢0 R/, 000000
0000000000, work(P;,t) > 4n,work(P;,t) >4n00000000. F;
00000, P.Work_count(t;) =52 0000 t(t; <t)0 0000000, 0O,
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D0 ¢,;0 FO0DD0D000000 ARO000000000,000 ARO0OODO
00000000000000,00 [t,,¢0 P, 0000 partial_resetd O O
00000.0000,00 4,40 O AO0000OOOOO0. =

00 24 000000¢ 00000000000 R, RO000.00¢0 P, PO
0000000000000000. 0000, work(P;,t) > 4n, work(P;,t) > 4n
00000000, P.Clock(t) = P;.Clock(t)0 0000

(00) 000000000000 POOO, PWorkcount(f) =3n 00007
(f<t)000000000000000O0.

(1) 000000000000 POOO, PWork_count(f) =3n00007 (I <
0000000

0000000000 P.Work_count(f) =3n0000F(f<t)0000000
D00.000000 2200, P.Work_count(t;) =5n 0000 t; (t; <t)O O
000 P— pO0000,000,—ipO000O. P,— OO0
P=P,P,=P, Pj—i OO0 P,=P,P;=P000.0000,0000
oog.

o P,—% P00 P, Work_count(t,) =50 0000 ¢, (t, <t)00O0OO.
P.O0ODO P..Gen(t)DODODO Y¥ODOOODOOODO pOOOOO0OO0O
00000,000000000000,00 [¢,40 PO partial_resetd
googd.

0000, P,.Clock(t) = P,.Clock(f —1)+100000. 000,00 2300,
0o [¢,40 P0 PO000D0OO0O0O0D0O0OOOOO. 00,00 [¢,¢40 B, P,
0000 partial_reset0 000000000, 000000000000000
0Dooooooo. o000,

steps(P,,t',t) = steps(P,,t',t) (2.7)

00000000000.000,¢ >t—4n+1000,00 [¢,{)00 P, P00
000000000000000000(27)00000.0000,¢ <t—4n+1
Doooooo.
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00 100,00 [t-4n+1,t—n|00000 ¢0 PO ROOCOODO. O
0,00 [f,40 P,O0D0000O0000000,¢(<t-2)0000 P,O
RODDDO. OO [¢,4]0 P, P,000D partialresetd 000000, OO
¢, ¢|lODoO00000 PO POCODO PODOOOOOODOODOODODO. OO0,
steps( Py, t',t") = steps(P,,t',t")000. 000,00 [¢",¢]00 P, PR,OOODO
00000000000 steps(Py,t",t) = steps(P,,t",t)00000. 00O, 0
(27)00D000.

(2) D0000K<LYH)OOO, P.Work_count(t) > 3n0 0 P;.Work_count(t) >
s goagg

0000,p, 000000 [1,t0 partial reset00000. 00, work(P;,t) >
dn,work (P;,t) > 4n 00 P, Work_count(t —n) > 6n, P;.Work_count(t — n) >
6n, 0000 P, ,000000t—n0000000000. P.Work_count(t—
1) > ™, PpWork_count(t — 1) > 7o, OO 1300, ROOO [t —n + 1,¢
ooooo ¢"0 ROUODOO0OOO0, RODOD t—-n+1L,t)000000 R;
0000000000. 000, [inconsistency II);(¢) D0 O0O0O0OODOO,
P;.Invalid;(t") = P;.Gen(t" —1) 000 P;.Clock(t" —1) = P;.Clock(t" — 1) O
0000. 000, Pudnvalid; (") = P.Gen(t” —1) 00000000000,
steps(P;,t —4n,t —2n)=2n, 00 1300 PROOO [t—4n,t—20]000000
000 R;00000000.0000 t—-4n,tj0 OOOOOOOO. OO0,
POOD [t—4n,t-2)00 P,O0D000DOO000OO [t—20,0000 P
000000000000 00, Puwwalid; = P.Gen(t" —1)0 0000000
00t-2»n000000. ROOD t—-2+1,t)000000 RODOOOO
O000,00000 [1,H]0 partial reset 00000000 OO0OO. OO0,
P;.Clock(t" —1) = P;.Clock(t" —1)00000. steps(F;,t",t) = steps(P;,t",t)
00, P.Clock(t —1) = P;.Clock(t —1) 00 000O. n
goooobdoogb,bbooboobob. ogobbbooboooba
oo obouooboobbbobbbuooobbbobbooboobda
goobooboooogwesoooygogo.

O0 250000 pRO00tO0000O00O0O00O0O0O000O000, work(P;,t) <
oo,
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(00) PODOOt0 ROODOODOOOD0.0D00,00 130000000 3n—1
ooooodooo pO ROODODOO0O0O0O0O. 000,00 ¢t0000 ;000
000000000000 000,0000 work(P,,t)<9nO 0000, OO
O0:0000 rugodoodgooooo.t0oo00o0odoo pOd R,O0000
000000000000 ¢Y000. pPOODOtODDODOO0ODO0ODODOODODOOO
O, (a)[naps IJ;, (b)[naps IT];, (¢) 0 135 0000000000000 0O0O0O0O.

(a) [naps I);0 P, Work_count(t —1) >n 00 P.dif f(t) <0

o000 pOO0O [+ 1,t-1000000000. P.Work_count > n, 00
130 0 steps(P;,t',t) <2n000, work(P;,t) <2n00000.

(b) [naps II]O P, Work_count(t—1) > n 00 P;.Invalid;(t—1) = P;.Gen(t—1)

work(P,t) > 80000 ,00000.000000 P.Work_count(t—1)>mn
000,00 1300 steps(Pi,t',t) <22000.

(b1) DO ¢t0O0D00O PO PInvaelid, 0000000000

P,.Gen(t' — 1) = Pj.Invalid;(t' — 1) 00 P, Work_count(t' —1) <nD0 0000
O00,00+¢00000000 PO partial reset 000000, OO #0 [naps
I,00000000,00 ¢0 PO partial reset 000000, P.Gen(t' —1) =
P;.Invalid;(t'—1) = P;.Invalid;(t—1) 000, Pi.Gen(t—1) = P;.Invalid;(t—1)
o000 ¢¥+1,t—1000000 partial reset0 00 P.Gen OO DOOO. O
00,0000000 partial reset 000000 ¢,0000 work(F;,t,) > 2n0
000000,001600 RO0O00O0O0O PInvalid;(t—1)00000000.
000, P.Invalid;(t — 1) = P.Gen(t —1) 00000,

(b2) 00 ¢0000 KO PInvalid, 000000000

Ob0:0000000 AO PInveled, 00000000 ¢;000.00,000
pPO0O0 0000 ROO4dodooaodoooooooooo.

(b2-1) OO0 ;0000 p0 ROOODODODOOOOOO
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steps(P,, 1 t}>4n  steps(P, t?f)<5n

' '
J A A A

p. 0o t! 0O t2 00 t
Ht24n0 t10 t23n :

I > , > .
Work_count>0 Work_count>4n time

(i) n < steps(P,,t3,¢') <3n0000000O

steps(P,, 1 t7>6n steps(P,, t 21)< 3n

' '
J A A A

P, oot oot OO0 t
steps(P., 1, t <3ri : :
time

(ii) steps(P;,t*,¢)<n0000000

0218 00O 250(b2-2)00 ;0000 A0 ROODDOODDODOOOODO (1)

od¢uooooon PO RiDDDDDDDDDDDt;DDD.DDtjDDDD
0 Pl Pﬂ]DDDDDDD,DDDDDDDDD.DDDD,BDDD[t;-,tj]DD
O0DO00D0D0D. 000,00 1300, steps(P;, t5,t;) < steps(P;,15,t;) < 3n—1
oooo0o.000,00 ¢;+1,t—-1)00 RO ROODDOOOOOO0DOOOO
0000, PWork_count(t—1) >n, 00 130 O steps(F;,t; +1,t) <2n0 00
00.000, steps(P;,¢5,t) <5n 000,00 [, —1)000000 ROOD
00000000 work(P,t) >9%0000.

(b2-2) 0O ;0000 PO ROODODOOOODOODOOO

steps(P;, 1,t;) <m0 00, steps(P;,t;,t) <2n 00 steps(Pi,1,t;) <9n0 0O
O00.000 work(P,,t) >900000. 0000, steps(P;,1,t;) > ™00

y Ly by
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onunoooooogn
ob0o,r 0000000
|

P.
J Pj
[ AR RNRRRRRRRRRRRURRRRRIERERRRERTRE T Pi D RjD D |:| |:| |:|
p, 00 t! oo 2| PO Y oot P.
: 3000000
noreladj =0 noreadj O 3n time

0219 00 250(b2-2)00 ;0000 pP0 ROOOOODDODOOOOD (2)

ooooo.

steps(P;,t;+1,6)<2n 000 1300,00 ;000 A0 RO0DOO00OD0
0D000000.00 000000 PO ROOOO0ODOOO0Y00,00¢
D00D0000 AO RODOOOOOO0 #¥000.000,0000+#000
O, steps(P,¢%,4%) > 3n00000,0000 0 PO R,00O0OO0O0O0O0
0 (O 2.18).

(i) n < steps(P,t*,¢')<3n0000000
00 1300 4n < P.Work_count(t?*) <6n 000 00. OO0, steps(P;,t%,t)
<5000 steps(P,,1,1?) >4 00000. 000,00 130000 [ —
4n,t2—3n—1]D PO R,O000O0000OO0O0OCOOO0.000O0O0 0o
00, steps(P;,t1,t2) >3n00000.

(ii) steps(P,t*,¢')<n0000000
steps(P;, t2,t) < 3n 00 steps(P;,1,t?) >6n00000. OOOOOOO
D00 RODO00D0DD #0000, 00 1300 steps(P, 1,tY) < 3n
00000. 000, steps(Pti,t2) > 3000000,

0000, steps(P,¢',¢2) >3 0000000 {0000, 0 PO B;O0ODO
0oooo0.0000, e300 PO ROO0oogooogoooood,
219000000 Pynoread;(t*) > 3n 000, P.Stagnant;0 P;.Last_-mycount,
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(t;-1)00000000. 0000, Pj.Last-mycount,(t;—1) = P;.Stagnant,(t;—
1)00000. 00 0 PO 87000 diff = LO000000 P.Count O
P;.Count 00000000O00OO00O0O0O00O, Ppnvelkd,0OOOOOOOO
good.

(c) O 13500PF;,.Sync(t—1) ¢ P;.Async(t—1), P;.Sync # 0 0 0 P,.Clock(t—
1) # P;.Clock (t — 1)

O0::00 13600000000 P.Work_count(t—1) < 6n000, P.Sync(t—
1) #000 PO 5n < P.Work_count(t,,—1) < P, Work_count(t—1)0 0000
tx U0, 0bogoobboog p,OO00DLO0O0D0O0O0O0bLO0ObLbDDO,n
O0D00000000000. 0000, B.Clock(tm) = Pm.Clock(tm — 1) + 1
O0000.00,work(P,t) >9n00000000O0ODO.

00 ¢t000 PO0OOO partial reset0 000000 000, O0O0OO,
Work_count(t’) = 00 00O . work(P;,t) > 6n 00 P.Work_count(t — 1) < 6n
00, RO °)00000000000OO0O0OOOOOOO. OO0 1300,
t°+1,t°+7)0 PO R;,R,000000000000000000. 00O, PO,
t,0000 P,0,t0000 0000000000, 000, work(Pa, tm—1) >
tm —t° —n > 4n, work(P;,t — 1) > work(P;,t, —1) >4n00000. 00O, O
ot —100 00b000c0oo00oooogoog.

(cl) OO t,—10 KODODOOOOOOOO

00 2400 P,,.Clock(t,, —1) = P;.Clock(t,, —1)00000. 00 [ty,t—1]0
F,P0000000000000, P.Clock(t—1) = P;.Clock(t—1)0 000
0,(c)00000.

(¢2) 0D ¢t,—10 ROOODOOOODODOO

P,P,0000 t, —3n(>t—4n) 000000000 Work_count 0 00 00
sort_list000. 0000 P,P0 t000000 sort_list0 0000000000
t;,t;000. P, P, Py0 [tm—3n,t,—1000000000000, P, —i. P,
D00 1500 P,—4, AO0OD00D. 000, KOO0 P.Gen(t—1)0000
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oo¢0p,0000000O00O0DODOODOODODODO,P,00O0CODOOOODO
0000000000000, 0000, Py.Clock(t,) = Pn.Clock(t., —1)+1 0
0000. P,000 [, tm—1000 [tw,t, —1]000000000, 000
[t.,t—10000000000. 000, steps(P,t,,,t) = steps(Pm, th,, tm) +
steps(P;,tm,t) OO0 P;.Clock(t —1) = P;.Clock(t —1)0 0000, (c)0000O
U. ]

do,00bdooooodo Ui ooooooooon

ggboooobgoon.

00 26 0000 pO0O0O:t000000000000000, work(P;,t)<Tn
goggg.

(00) OO 1400, OO [inconsistency IJ;, [inconsistency 11,0 00000 00O
000000000000, work(P;,,t)=100000. OO, [inconsistency III];
godbobbbooooboouoooobboagd.

[inconsistency I11);(t): P;.Mode(t — 1) = "adjusted” and P.,,.Mode(t — 1) =
"adjusted” and P;.Invalide,(t) # Pu..Gen(t — 1) and P;.Clock(t — 1) #
P....Clock(t — 1)

0000 pROO0OtOO0O0O0OO0O0DO0OD0 ROOO. work(P;,t) > ™mOO
00000, [inconsistency III];(1) DO OO OD0OO0OODODOO. OO 1300, 00
t-Tm+1,t—-42)000000000 PO RROODOODOOODDODO. OO
O,p000[t—-4n,t—-10000000000,R00D000 PO0CO0ODOO
00000000, PInvalid,(t) = Pp.Gen(t — 1) 000 Pe..Mode(t — 1) =
"adjusting’0 0000, 00, OO0 [t—4n,t— 100000000000,
work(P;,t) > 4n 00000, OO 2400, P.Mode(t — 1) = "adjusted’0 O
P;.Mode(t — 1) ="adjusted’0 0 0 , P;.Clock(t — 1) # P;.Clock(t —1)0 00O
0. 0000, work(P;,t) > 7000 [inconsistency II];(¢) DO OOO0O. OO
0, work(P;,t) < 7m0 0000. u

00 27 (00000) 000¢t>1, 0000000 POOO, work(P,t—1)>
15n 000 P.Mode(t — 1) = "adjusted’0 00 00O, work(P;,t) > 15n 000
P;.Clock(t) = P,.Clock(t—1)+100000.
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(00) D0 t—-15000 POOOOODODOOODO,00¢t-15000 PRODOO
000000000 t,,000.00¢t=-15n000 ROOOOOOOOOOO,
lap =1000. 00 t,,00000 ¢0 RO partial reset 000000, OO
20,25, 260 O work(P;,t") <9n0 0000. OO0, work(P;,t) > 15000, P
O000¢t—6n000 partial reset D0 000000. 000, P.Work_count(t—
1) >6n000 P.Mode(t—1) ="adjusted” 0 0000. 00, work(P;,t) > 15n
O00,pRO000¢t0000000D0O0OOOO0OO, P.Clock(t) = P;,.Clock(t —
1)+100000. -

00 28 (000) 000 ¢ > 1, 0000000 B,P000, work(P,t) >
15n, work(P;,t) > 15n 000 P;.Clock(t) = P;.Clock(t)0 000 O .

(00) 00 2700, P,.Mode(t) = "adjusted”, P;.Mode = "adjusted’0 0 O .
000,00 2400 P.Clock(t) = P;.Clock(t)0 00D 0. »
00 27,2800,0020000.

OO0 2000000 ssWoSO,000000000DO0O0O0O 15000000
gogboboboooboboooa. ]

2.6. U0

gbog,ggobobbboudooobbboooobbobooooon
goobbbobboboooabo. oo, ggbbobbbbobdooogaas
gogbboobobobbobbduuoodgub n=2000000000.000,0
ot 122000000000000000,0000000000000 157
gogdbbboooobboooooobboooob.boooobooogo
JO000ooobobobOobobOobibO Papatriantafilon DO OO0 00000
4?-3n—10000000000000000000000,0000000
goboobobobbobbuoobooobobobbbodga. og,0o0o0gao
goboboodgdgbobbuooooooouaboobbbodaod.

0000 O(n?) O Dolev O, Papatriantafilon 0 0000000000000
gobooboooobo.obogg,obbobog wes, sswosSodnogd sort_list
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googbbboobbbobbd-0b00000000,0000000040
O(nlogn) 00000000 OOOOOODOOOODODODOO.OO0O,0000
O wces,sswesoooooooooonooooooo,ooooooooooo
00000 O(legn)DODOODOOOOODODDO.
goooboooooooobob,obbbobobobo. ggboogoob
gobbbodbobbbooobboodobbbooooooobooobood
g,gdbbboogobbuodoooooooogan.
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1 3 0

Jobooboobbobobbododdd
Juooododd

3.1. OOO0

OO000,00000000000000CO000000000000000O0
obooooooooooooooooobooboooooooobo. obooooo
ooboooboooooooooooooOo,boo0o0ob000oO000ODbOb0O00b0bb
ooooooooooooboooooooon.

ooooo,0ooboo0ooo0ooooboooboooooboobobooooboooo,
0000000000000000000D000000 dyu(fo<u<d)000
d—-«d 000000000000000000O0O0O000O0. 000000
ooOo0OO000,0000000000000000000000000000
oooooboooo0ooooooooooOobOOoOooooboOooO. oboboooo
0000000000000 00000 3.1000. AttiyaO [3], Mavronicolas
0 [16)|0000000000000 read/write0 0000000000000
0000000000000, AttiyaOO write 000000 /200000,
Mavronicolas 0 0 read D 00000 u/2, read D00 write OO0 000000
000000 d+«/2000000000. MavronicolasO 0 w-0000000O
00 read/write 0 0 00 000000000DOOOO. O0,0000000
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0000000000000000000O0000OO0000oOoO 11). 00
obhogooooooboo,bobo0buoboooboboouoboounn ack
Obob0oboboboobobbovebO0bOobooo,ooboboooboboboo
w,2d 00000 000O00O0O0O0O. 00,0000 FIFOOOOOOODOODO
O000000,0000000000 «w<(2/3)d000000 dequeued 00O
000 d+u/2,enquene 000000 u(n—1)/n000000000 [11].

goooo,bbggboobodogobbooboobboboooob,bbon
gbbobodgobbobbbooobobodobboobouoooobobobboab
O000.00,0000000000,0000000000000 read/write
gogdobbuodgobbobboobooobuobobbob.oobboobbbo,od0d
OO00oooboboOdwniteDOODOODd, read0 000000 «x000000O
O000,«.00000000000 writeOOOOOO0O w+ «-max{d— 2u,0},
read 0000000 u+(l—a)max{d—2«,0}(000,0<a<1)000000
gog,0bobooboboboobb,00b00ob0obbobOn writeD D d, read
O0«000000000,«.00000000000 writeOO w,read00 d
ggdbooobbooobob.ob,gogobobobuooog,ogobooo
gogodoodobbbbbdooubbboooodobboooob.bboodaoa
Ob0000d writeODO v, read 00 2d000000 000, »-00000000
OO0 writeOO u,reaed 00 d4+w000000000O0O0O0CO.

gb,3200ouggoobuooouabbbobobooogoo. 3.30bo, i
O00000000,000000«000000000 read/writeJ 0000
gooobodgboboboboobuouoooooao. 3sugu,bouug,uoooan
v-ObOoogooguooobobobbbobooobooobboooobooon
go.

00 [16]00, Mavronicolas 0 000000000 000 write OO 0000 4u+a(d—u)
reed 000000 4u+ (l-a)(d—w)+0000000000000000O. 000,000
go0odoOo0oo00oOOobOOdOoO0.obbooooooooog,bb=00000D00.
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g3l dbbboooobbbuooaobbauanon

read /write 0 0 O O

oooooo
gogog write 0 O read O O
00 |«-0000 | [16] du+ a-m du+(1—a)m?®
(0<a<lm=d—u)
OO0 |oo0oog | [3] u/2
[16] 00 d+u/2
u/2
FIFODO OO
dequeue [0 [ enqueue [ [
OO0 (0ooOo0 | 1] d+u/2 uln—1)/n
if u <(2/3)d
gooooood
ack 00O 0O val 0 O O
OO0 |oo00oog || [11] U 2d
Oooooo0 :[d—wu,d, 00000 :n

3.2. 0O0O0O

3.2.1 0000

60

gbogboooboda,buoguoobbooooobobbooooobn
goo.

gbogbuogbbooobboboogoubobbooboboboobonbo.
goggodoboodbn—-10000000000DO0O0O,000 00060
oo pOO00.000000Db0OO0bO0OLO0ODbDDbDOObLOOO,00obOoOD
gogboodgboboooboobbb.buooobobob,ooboobbb,o




32 dbbouoaobbbuoobbbbouooobobboobbboab

read /write 0 0 O O

oooooo
googg |0Dbobo || writeO O read O O
oood ooogo d u
w0000 | u+a-m w+ (1 —a)m
(0 <a<1,m =max{d—2u,0})
00000 |00O000 d d
-0 000 U d
oooooooo
ack 00O 0O val 0 OO
oood ooogoo u 2d
-0 000 U d+u

0000000 : [d-ud

D000000000. 000000000000000000,000000
0000000 du(0<u<d000 [d-ud000000000.0000
00,0000000000000000000 00000,0000000
D000000000,00,000000000.0000d100,00000
0000000000000 00.000000000e«000000000
0.00,0000000000000000000000.000000000
00000,000000000000
00000000000000000000000000000000. 00
000,00000000000000000000.

gogbobodb bboooobodob,uobbbooboooboo,bob,
gbooboobbooboboooooooboo. ooodgobobobon

‘goobooooobooboboobobOooobob.0boobo,bbboboobobobo
goob,00bgooooboooog.
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goododa.boobbbbdooodgu,gbbobbobobbobbod
gogoboboboogoguooooboboo.

gogbbobouaob bogobooboobbbbbbboo,boobbbodoodoo
gbodoogoobobooogoobo,ogooooo. ooao,oboo
gobboobobobbbobboobobodod. bbooooaoo
gbod,bbodgbubbodooooboobgbobuoobbobobobo
ggbbobbooobboooobboooaa.

guoog pOOO0Ob0O0OO0OOO0O0O0ODLOO.DODD ROOOD,0000
g pbbbbooogboogo. gboooobouoooo,bbooboog, b
00000000000 WN,0000 POO0O0OOOODOOOOO 4000
oo00. 0000000000000 (M,s,r)0D000O0O0ODO. ODOO, MO
ooo0oo,sOOoo0,s0000000. 00000D00OD (K,)ODODOOD
gob.0od,Kkboggooooo,:obooboobobbooboboo. og,
gboboboobooboob,obobobbob.ogboo ppObo0oboOn
goood.

goouoo.-o0o0uoooonouooooboooooo. goooogod
0,000000 BroadCast(:, M)DDODODOOOO Receive(s, j,M)O 00O
O00. 0000000000, 000000 Send(i,j,M)000000
O Receive(i,j, M)00O000O0O.

000000 Send(,j,M): 0000 PRODDOOO0 AOOD0OO0 MO
0000.000 (M,4,)0 NOODOOOO.

000000 BroadCast(i,M): 0000 POOO0O0O0O0 MOOO,00
00,000000 MOO0OO0O0O0Y 0000 P000,000 (M,i,5)
O ANODODODD.

000000 Receive(i,j,M): 0000 ROODOOO P, 0000000
MOODOOO.000 (M,j,:)0NODDODOOO0OOO.

‘0000000,0000000000000000000000000000000DO0
gboooo
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gogdgoogd:-gogbabooooaa.

0000000000 TimerSet(s,t,K): D000 PRO0 KODOOOOO
(0000000000000 0. D000 TimerSet(i,t, K) OO OO
0¢t000oo0o,0o00 (K,t+t)0 A000000.

00000000 Alerm(i,K): 0 KOOOOOOOOOO POOOO. O
000 Alerm(;, K)0OOOD t0000000,000 (K, 6)0 A
ooooooo.

0000000000 ReadClock(i,s): DO0D0O ROODODOOOOO sO
go.

000000 Step(7): O0O0O0 ROODOOO. D0ODOOODODODDDOOOOOO
rOoooboobbOo0,0boobooboboo.

O0000o0oCo0O:0000 pOOOOODOOO(ODO,0000D0)DO0D0O0
gg.boubdooobbboobbobbboboaboaod.

OD0D000 Receive(i,j,M), 00000000 Alarm(,K), 000000
Stop(i) DODODOOODOOOOOODOOOOODOOODOOO.
00000000000 00000000000000000 E = ¢, (e1,t1),
Cly vy Chy (€pats thyt)sChat, -+, 000.000,0 (k>0)000, (e, tr)(k >
H)oOOooooooooO. 00,0 (et 000, 00000, 40 00
O0000oooOoOoO. O 40 time(e,) DOOO00. 00 ¢, 00000000
PODODOO, 0 RPOODOOOODOOOOODOO, i000. ceDOO0ODOOO
0000000000, MNOOOOO:0000 A0D000OC0O0O0000000
O.0(k000,4<t,00000.00 E0,0kk>0000,00 tp0
000000 PODD00 0000, PO000 efi00 i 00000
(N, A0000000000)0000000.000000,00000000
gooooooodoodd. booooooo,goobogooooon.

e ADDDD (K,y)DDODODO, D00 t0 Alerm(P,K)ODDDODODO, OO
0,00¢0 RPOO0ODO0DO. OO0, (K,1)0 4000000000,
Alerm(P;, K)OODODODO.
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OP = {write(v)|v € D} U {read}
RES = {ack} U D

Q=D

Yo, o' §(v, write(v')) = (v, ack)
Yo é(v,read) = (v,v)

0 3.1 000 DO read/write0J O 0000

e 1000TOOOO (M,i,;)0NOOOOOOOODO,00 [T+d—u,T+d]
0 Receive(j,i, MO ODOODO,000,0000 7T+d0 ;000000
00.00,(M,4j)0 NOOOOOOOOO, Receive(j,i, M)D 0 O00O.

3.2.2 UUOUOOOOoOooooobboOl

00000000000 (00,0000b00000)ooooo.ooooo
ooooodooooooooooooooooooooooooooon,
0000000000000000. 00 (OP,RES,Q,q,6)000000. O
O0,0P0000000RESODOODOOOQQUODOOODOODDODOONONOGg
000000000é:Qx0OP - Q@Qx RESOODOD0OOOODODOOOOOOOO
oo oooboooooood
0. 000ooooooooooooooooon eop OO0 OO0 ON
O04¢J0000000 resO00D000O0OONg,0p) =(¢,res) 000000000
goooooboodno,ougoooooodg, boooooooooog. O
0000 DOOO0O0O0O0OD0D0O0OO ¢UO0 read/writel 0 OD0O0ODODO 3.10
ugtd. oo, 0o oooiotd epidddooogooo,goog,
|{res|3s, s'[6(s,op) = (§',res)|}| =1000,00 op0 ackOOOOODO. ackO
O00D000vabO0d00ood. 0, ep, 0000 ackOOO, op, 0000 val
ogoooon.

00,0 (OP,RES,Q,q,6) 0000000 000000000, 00000,
goooooooooooodoonooooooooooogo. oodoogo
00000000000 32000.00000000000000 {Py,..., Py 1}
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invoke invoke invoke
response response response
Py Py | +ores P
send send send
recelve recelve recelve
ooooo
Ooo0oooooooad

032 dbboboooooooo

ooboobooo.oog,oobbbo pObOObOObOODbOO,bbb0obD
ooooooo.boooodbo pbobobobooooboobuobogo.

000000 Invoke(P,op): D00D000O000 0000 op(c 0)00000
0000000 POOOOO.

000000 Response(P,res): 0000000000, 0000 PROODO res
(e RES)DOD.

gobooooobbobobboo.ooobboo poboooggo, o
ggdoob,oobobboooon.

e OUODOOLO ARODDOODLDOODOODLO,00U0bOODbOOODLD
goobooboobooog pbbbobob.

godooboooooo,ooooodooooooooooon.

doodo pO00, 00 FOOODOODOOO pOO0OO0OOOOOOO0O
odoooooooooouo. toooooooouoouo,uoooooao
U0 poooooooooo,0oogoobobo, RFO0000bo.oog, o
000000000 Invy, Resy, Invy, Reso,---000. 000, 0 k(k>1)00
O In, 0000000, Res OO0 OOOOOOO. ODOOOOOO ImvpOdO
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OU,000000 Res, U0 ODO0OOOUOOOOO. oo, 00oooobooon
(Invg, Resp) D00 O00O000. OO0O0O0D0O00O0O0O0OO0OOOOOOOOOO
gboooo,oguotdotouooobooboboooooooouoog. o
godoodoooooooooooo,obooogooogon.

doooooooooouo, oo obooboooooboboobooooaon
gooooobooo. ougoo, oo oobodooooodgoo,
000000 (linearizability)[10) 0 000 0. Herlihy D0 00 10000000
000000000 lcektyO OO ODOODO0O0OO0O0O0OOOOOOO0OOOOOO
oo oooooooooooouoooooo
gobooboobooototuobooooootodouoooonooooouoooa
0ooooboooooooog, o000 ooooooodooonoonog
oo, 0doddoooboooobooouoooobooooooooo,oda
gddoooouoooouoooooooon.

O0,000000,000000000. 00000007 = (Invy,Resy),
(Invg, Ress),---0000. 00000 (Inv, Res,) 000,00000 op,00
O. O (OP,RES,Q,q,6) 0000000 o000, 6(qk-1,0p,) = (q&,resx)
00 o000060 = g,q,---00000000, 000000000, OO0
FOOOO,0000000 op, = (Invg, Resy), op;, = (Inv;, Res;) 0 00 O
time(Res) < time(Inv,) 0000000, 000,0000000000000
op,,op U0 OOOOODO, op, U oplDDDDDDDD,opkgoplDDD.DD
FO0000000D00O0000,00000000000000 complete(E)
ooo.

00 300 pOO0O0O0O0O0O0OO0 FMOOOOOOO,0000 FODODOO
goooogo.

e 00O KO,00 KOCOOO,00D0,00 FOO0OOO0OODODOOOOO
googobooobobobbbooobbbbbbbabbooooban.

e complete(E")ODODDOUDODODOOODOODOOOODODODODOOODODODOAODOO
complete( E')

O, o0p, 5" op,00000000000000000, 0070 op,0
op,0000000. n

66



b 40000 [000,0000000D0O000000,0000 0000
gooboooggg. ]

b s 00 pO00booboooboD Inooboobbooobon
0,00 rp0bOooobobooon.

e HOUOOOOLOOOLDODODOD.

e In00OD0DDODDOODO PROOO, 000000000 Stop(3) 000
go.

00,00 /I000,000000000000,0000 IO00000000O00O
0. [

oo /0dgdbdoo,obobbbobooobbooooobn. oo
O ope = (Inv, Res) 0 00, time(Res) — time(Inv) 000000000, ope.op
00000 InnDO0D0OO0OOOOOOO. OPE(R)UDO0O EFOODODOOOO
000000. O (OP,RES,Q,q,8) 0000000 o000 000,000
ool e

max{res_time(ope)|ope € OPE(FE), ope.op € op, E is an execution of I}

000000, restime(op) D0 ODODO.

3.3. D00000OD0 read/writeJOOOOOOOO
[]

O0000,000000000000000 read/writeJ 000000000
goooon,dbooboobbuobbOobd registergg 40 U w-00000
000000000 registergg_,00000. read/write 000000000
O0000000,read000000000 restime(read) 00000 write O
O00O0000O0D0O0OO0DO0 restime(write) = max{res_time(write(v))} O
goboooo.
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O0O,000000000000000000000000000. 0000
read/write D0 000 000000000000 0O0O0O,000000 read/write
0000000000D000. 00 write(v) 0 00000000,000000
Owrite 0000000000 tsO00000,v,ts000000000000O0
O0. 00000000oc0ooooooOo0o0,b00b0o0oo0o00oboooboooboobo
O00O.reed0 0000000000, 0000000C00000000C000
cbObooobooooboboo. o, reed0 000 ROOO, ROOOOOOOO
OooooooooooooooboOoooobooooooboooOoO0noO write
00000 WriteR)DDOO. OO0 read0000 RODOOO Write(R)ODDOOO
OO0 writeJOODOOO writeO OO OO,

ooooooooo,o00000000b00b00ooobooOooonD. ooo0ood
o0oooo0ooooOo0o0o0ooooooooooob. oooo,0000000
oooooooobooOoooo. ooobboobobooooooooooboooono, o
oobooOoOobooooooooboooooOoOO0OOoOooOObODbOOO0OoOooooDD.

3.3.1 UUOUOUOUONO registerpp_ac

U0,00000000000000000 registergg_ 4,0 0000. 000
000 registergg_ac O res_time(write) = d, res_time(read) = u 0 read/write
Uooobooobobod. boubbOid registergg 400000000 3.3
goo.

gogboobboobuoboboodbobbooooobogbbooon
OddO0Owrite OO0, 00000000000O0O0DO0DOD0O0O0OO. ODOOO
gogooboboooobobo,dgbbobdobbobbooooaunboobbbo.
write D OO, 000000 d0O00O0O0O ackOODOOOO0OO. reed0 00O, O
gooooboooboooobobbuooboo. bbb «0b0Dbo,00
gogooooooo.

000000 registergg_,00, 000000000000 countd 0O 0.
Uboo0oduooboooodn countOOO. OO count write O OO OO O
doddddd. g, oot udibd countd U OO count
gooobobod,covnt D000 gooooon. 0 3400
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data type

timestamp=(integer, process identifier);

variables

count, type integer, init 0;

res_val, type value of the register ;
last_up_ts, type timestamp, init (0,0);

local _copy, type value of the register, init initial value of the register;

transition functions of process F;

Invoke(i,write(v)) :
count := count + 1;
BroadCast(i,update(v, (count,))); /* update message */
TimerSet(i,d, WRITE);

Invoke(i,read) :
res_val := local _copy;

TimerSet(i,u, READ);

Receive(i, j,update(v, (recvd_count, recvd_uid))) :
count := max(count,recvd_count);
if last up_ts <® (recvd_count, recvd_uid)

then local_copy := v; last_ up_ts := (recvd_count,recvd uid);

Alarm(i, WRITE) :

Response(i,ack);
Alarm(i, READ) :

Response(i,res val);

Stop(i) :

No events can happen after this event.

“(al,bl) < ((Iz,bz) Sap <aV (Cl,l =ay Ab < bz)

033 00000000 registergy_,e (EODO0O00D0)
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P 1, :

— : update message

O 3.4 OO count

0000,00000000000004d000,W, 2WwW,0000 0000
write 0000 Wy, W,0 0O, W,0 00000000 W,0 000000000
ooooo.

00000,00000000000000000000000000,000
0000000000 000000000000.000,0000000000
0000000000000 000,0000000000000000000
0000000000000 0O0000.000,0000000000000
00000000000000000.000000000000000000
0000000,0000000000000000000000000000
000000. 0000000,000000000000000000000
00000,0000000000000.0000000,000000000
00000000000.03500000000¢0000000000000
00000 [d+t—w,d+$00000000000,000000000000
000000,0000000.000,R 2 RO0000 EDODO read 00
00 Ry, R,OOO, 0000 Write(R,) O Write(R,) 10000000000
0000000000 O0O0oooooO.

000000000000 00000000000000000000000
0000000000000000000000000000000000000
000000000000 000000000000000000000000
OD0000O0wite 000000000000000000000000000
0000000000000 00000000000000000000000
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— : update message

035 dgubuoooon

ogoobooobooooooooooooobooobooooobOoObobOoDObobO,on
ooboooboboobobobOooooooooboooboboooboooboDboboOooon
oooooboobobooooobooooobbobo0oobooooooooboboo
Ooobooooboobobooboooo,oooo0ooooo writedOOOOOO
ooooobooo,0b0bobo0oooboboobobobooooboooDobooboDo
OO0O00O000000000000000 registergg_4o,0 00000000

000000 registergg_,,0000000000000000 read/writed
oooooooboooooobodo. 0o pOgO0, pO00DOOOOOCOOC0O0
OO0 write 000000000 e000000O0O0O0O0OOOO time(e)+d0O
Oooo0o0o pooo.

OO0 30 00 FOOOUOUODDOO writeDOOD WOOOODODOOO InwO
U, M»00000o0o0boogbobb MoOoooD.0oboo RO MOOOOOO
O0Ooooooooooo, od [tme(Inv) +d—u,time(Inv)+d 000 .

(00) 000000000,0000 RO00 [time(Inv)+d—u, time(Inv) +d|
000000 MOODODOO. 00000000,0000 POOOOOO MO
0D0000000000000000,00000000 MOOOOOO. OO
0,0000000. n

71



Owrite 00 WOOO,¢ts(W)DO WOOOOOODODODODOOOOODOOO wo
goooouooboogbooogoboo.

003100 FO0D0D00 wite OO0 Wy, Wo0 00, Wy, 2 wo000,
ts(Wh) <ts(W)O OO ODO.

(O0) writeDO OO W, W0 0O0O0O0OO0OO0OOOOOO P,R,O0ODO.O
ooobob0writeJOOOOO0OODOO 00000000000 Owrited OO0
oodoooow,boboobobooboooooooywooboo,w,0obooog
goooboobuoooy+doboooono, Wi webooooooog, wy
oboo0o0bD0O &L000 ¢u+d<t, 00000, W, 000000000 w00
gbogoooobboobo pgboobboooboo,w,bbobooobd
gboooboobDon, RO count W,O0DOOODODODOODDODOOOO count
UbooboddbeountD 0DO00O0O0OO0OO0OOOOO0OOODOOOOO W
gdw,bbhoboooogbobooobobooboobboooobbodd m

00 3200 EO0O0ODOO reed 0000 R,RODOD, Ry 2 R,ODDO,

ts(Write(Ry)) < ts(Write(Ry)) D 00O Write(R,) = Write(R,) DO ODODO.

(00) reed 0000 R, R,O000000000000000 P,R00,000
0000000000 ¢,t,0000read 00000000 «0000R, 2 Ry0
00000t >4 +u00000.0000 A0 000 Write(R,) 00000
000000000000000000000000, Write(R)O ¢, —(d—u)
000000000000000RO Write(R,)0 0000000000000
000000000000000

(a) RO Write(R,) JODOODODDODOODODOOOOOODOOODOODODODOO

0D 3000, RO0D0OD ¢ +u(< t,) 000000000, Write(Ry) #
Write(R:)D OO0, Write(R,)) 000D 0D0D0D0O0O0O0O0O0ODOOOODOOOODOO
0000 Write(R,)0 000000000000 000000, ts(Write(Ry)) <
ts(Write(R,)) DO OO OO

(b) P,0 Write(R,))0ODD 000000000000
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0000 pROOODO WritelR) 0D 0000000000 lastuptsOO0O
Its;0Write(R,) OO0 D O0D000O0O00OOOO lastupts D00 lts;0 000 Py
0 Write(R) D DOO0DO00O0DO0000000, its; > ts(Write(Ry)) 0 O
goo. 0od, RLO000000 ¢L,O000000000000000 writed OO
00 Write(Ry) D0 O, ltsy <ts(Write(R2)) D OO ODO. lastupts0 0000
00000000, ts(Write(Ry)) <lts; <ltsy <ts(Write(Rx)) DOOOO. m

U 33 000000 regustergg_,cU, DO00O0O, D00O0O0OOODOOOO
read/write0 0 000 000000000000 00O0OO00O0O0OOOO, res_time
(write) = d, res_time(read) = w00 0.

(00) 000000 registergg_,,000000000,0000000 res_time
(write) = d, res time(read) =« 00000000000, OO0,000000
reqisterpp_,,00000000000000O.

complete(F') OO OOODDOOOODOOODOOODOOOOOOOrOOOO,O
000000 opy,op,0 000 op, "4 0p, 00070 0p,0 0p,0 0000
0o00ooood. 0b0-000dooooobooUn writeOO Wol ODODO OO
O000-000000000. 00, complete(E'YODODOOOOO write JO
0000000000000 (DooO0oU0obOoOU0DO0oOoDoUooOoooooo
O0000000o0ooooooooo)ow,0000000.00,0read00O0O
0ORD,00000000000000O0OO0O, Write(R)ODODO writeJ OO
gooooooon.

O0,0000 opy,op,0 writeOUOD reaed D00 OOOOOOODO.

(a) opy,op,0 write DO OO Wy, Wo,000

complete(

003100, w, ™) w000 ts(wy) < ts(We) 00000, 000007
0 w,0 W,00oooooo.

(b) opy,op,0 read D000 Ry, R,ODO O

complete(

00 3200, B ™) gponno, ts(Write(Ry)) < ts(Write(R,)) 000
Write(R,) = Write(R,) D 0000. 0000000, 0000070 RO Ry
Doooooo.
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(c) op;0 write 0000 W, op,0d read 0000 ROOO

reaed OO0 ROOOOOODODODODOODOOO PRO0O,W,ROO0000ODO

complete( E')

ooood tw,tgD0O0O. W — ROO,tw+d<tzg0OODODO.

(cl) PRO WODODOUOOOOODOOOODOOO: PROWODOODOOOODOOO
gboobbo,wbhobobgooooooboobooboboooboob
gboobooogaooo.

(c2) PRO WODOOOOOOOODOODODOOODODOOODODOOO: OO 300
O,00bbobobo0tw+d0000000. WAODOODOOOOO, PO
obooboobooboobbobob,wybo0oboooboooooo
gooogboobooobogad.

reaed 0000 ROOO tg(>tw+d)0000 PROODDOOOOODOOOOOO,
W =Write(R) D OO ts(W) <ts(Write(R))DODDOO0ODO. 000,000007
OwoO rRODOODODODO.

(d) op,0 read D000 R, op,00 writeOO OO WODOO

R,W,Write(R) 000000000000 tptw twelO00. 00 3000,
twir <tr—(d—w)00000. 00,1z < tw—uD0, twr < tw—d, 0000,
Write(R) ™) wooooo. 000, 00 3100 ts(Write(R)) < ts(W)
00000,0000070 RO Write(R)OD WOODOODO.
000,7000000,0000 read 0000000000000 writed O

gogboboobogbbboobooo.bbb,0od-s0bbogg. ]

3.3.2 UUOO0OU0OOU registergg_,c

U0,«.-0000000000000000 registergg_, 00000, 0000
OO registergg_ o0 , res_time(write) = u+a-max{d—2u, 0}, res_time(read) =
u+ (1 — a)max{d — 24,0} O read/write 0 0 000 O000000O. 000,00
Ual 0 <o < 10000000000, 0000000000000 DOO0, O
guooboboobbbodbebbbboogbobbuooooobboadan
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000000, 00, write 0000000 w4+ a-max{d—2u,0} O |W|, read
0000000 u+ (1 - e)max{d — 24,0} 0 |[R|000. D000D0OO0DO
registerpp 00000000 3.6000.

U0D0D0O00000000DO registergg_, 000 00000OOOODOO
UeountUODUOOO0O0O,.-00000000000000 regestergg_, o000
gutdbobogodgoboooboobobib.«uodbobboogobboogoo
U00D«000,0000 writeOOOOOOOO uDDDDD,W1£>W2DDD
UFEO0000writeOODDOO Wy, W0 OO, WolOOUOOOOOO WLODODOO
Uoobooououoouboooboon.gb,bobobd registergg_ 400
O000bbO00,dbd00read0000O0ODOOOO UDDDDD,ngRQD
000 EO0DD read 0000 Ry, R,OOD , 0000 Write(R) O Write(R,)
gogodooooboboobuboooobooooboobbooo.

000000 registergy o0, 1ead 000000000000 00000
0 max{|R|,d —«} 0000000000000 000 registergg_,o0000.
0000000, read 0000 ROOOOO Write(R)ODDODDO DO write D O
00000000000 WriteR)OOODOOOODOODODOODO.

000000 registerpg .0 0000000000000, 00 EDDO,E
00000 ooboboboood writeDODOODOOOO e OOOOOOO
000000 time(e)+d0000000 EOODO.0000O,33.10000 30
gooogo,bbbboogoad.

00 34 00 FOOOODOOO0OO writeDOOO WOOOOOOOO InmwO
U, M»00000o0o0boogbobb MoOoooD.0oboo RO MOOOOOO
O0Ooooooooooo, o0 [time(Inv) +d—u,time(Inv)+d000. m

U0,« 0000000000, writelO0DUO0O0OOD «000DOODOOO
gogboobooooog.

0035 00 FO0D00D0 wite DOOO Wy, Wo0 OO, Wy 2 Wo000,
ts(Wy) <ts(W) DO DODO. u

00 36 00 FO0OODO0O reed 0000 Ry, R,O00, Ry & R,OOD,
ts(Write(Ry)) < ts(Write(Ry)) 000 Write(Ry) = Write(R,)) DD DODODO .
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constant
[W|=u+ o -max{d — 2u,0}, |R| = v+ (1 — a) max{d — 2,0}

data type

timestamp=(integer, process identifier);

variables

count, type integer, init 0;

res_val, type value of the register ;

last_up_ts, type timestamp, init (0,0);

local _copy, type value of the register, init initial value of

the register;

transition functions of process P;
Invoke(i,write(v)) :
ReadClock(i,local cl);
BroadCast(i,update(v, (local cl,1))); /* update message */
TimerSet(i, |W|, WRITE);
Invoke(i,read) :
TimerSet(i,min{|R|,d — u},SET_VAL);
TimerSet(i,|R|, READ);
Receive(i, j,update(v, (recvd_cl, recvd_uid))) :
if last up ts < (recvd_cl,recvd_uid)
then local _copy := v; last up ts := (recvd_cl,recvd_uid);
Alarm(i, WRITE) :
last_up_ts .= write_ts;
Response(i, ack);
Alarm(i,SET_VAL) :
res_val := local_copy;
Alarm(i,READ) :
Response(i,res val);
Stop(i) :

No events can happen after this event.

0 3.6 00000000 registergy o (FO000O00O)
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(00) reed 0000 R, R,OO00000000000000 P,P00,000
0000000000 ¢,,4,0000read 00000000 «000000R, 2 R,
0000006 >4+u00000. 0000 PO 4 +min{|R|,d—«} 00
0 Write(R,)00000000000000000000000000000,
Write(R,) O t; +min{|R|,d—u} — (d—«) 000000000000

(a) RO Write(R) D OO ODODDODOOODOOOOOODOOOODODODODOO

00 34000PR000000 ¢ + min{|R|,d — u} + u(< to + min{|R|,d — u})
000000000, Write(Ry) # Write(R,) 0000, Write(R,) 00000
000000000000000000000 Write(R,) 000000000
0000000000, ts(Write(Ry)) < ts(Write(R,)) 0 00000

(b) P,0 Write(R,))0 DD 000000000000

O000 ROOODO WritelR,) OO 0OOO0D00O0O00O0O lastuptsOO0O
Its;0Write(R,) 0000000000000 lastuptsd 00 Itss0 000 PO
Write(Ry) D00 00000000000000, its; > ts(Write(R))) 000
00.00,R000000 t,+min{|R|,d-«}000000000000000
write 0 0000 Write(R) OO DO, ltsy < ts(Write(R2)) 000 D00O. last_up_ts
0000000000000, ts(Write(Ry)) < sy < ltsy < ts(Write(Rs)) O
gogoo. ]

ot 37 000 D000 registergg o4, 0000, »-000000000000
read/write 0 0 000000000000 0OOO0OOCOOOOOOOO,O000
a(0 <a<1)000 restime(write) = u+ a-max{d — 2u, 0}, res_time(read) =
u+ (1 —oa)max{d—2«,0}000.

(00) 000000 registergg_, 0 00000000,0000000 res_time
(write) = u 4+ a - max{d — 2u, 0}, res_time(read) = u + (1 — @) max{d — 2u, 0}
ODOO00ooboOobOoboO.00,000000 regestergg_,,0 00000000
gooon.

3310000 330000, complete(E') DO O OO0OO0DOOOOOODOOODO
00000-0000,0000000 opy,op,0 000 op, ™) op,000
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70 op,0 op, 000000000000, OO,0000 opy,op,0 write J U0
reaed 00 0O00O0OOOOOO.

(a) opy,op,0 write D000 Wy, W0 00

complete(

003500, w, ™) w000 ts(Wy) < ts(We) 00000, 000007
0 w,0 w,00ooooo.

(b) opy,op,0 read D000 Ry, R,ODOO

complete

0D 3600, R, ™) RO0D, ts(Write(Ry)) < ts(Write(R)) 00 O
Write(R,) = Write(R,) D 0000. D 000000, 0000070 RO Ry
Doooooo.

(c) op,0 write 0000 W, op,0d read 0000 ROOO

read D000 ROODODOOOOOOOD PROO,W,RDO00O00O00ODOOO

complete(E")

O ty,tzg000. WS RODO, tw+ |W|<tz0 0000,

(cl) PRO WOODOUOOOOODOOOODOOO: PRO WOOOOOOODOOO
ggboob,wdbbodbboobboouoobobbbobobbooga
gboboogaooo.

(c2) PRO WOODOUOOOOUDODDOOUODDOOOODODDODOOOOOOO: 0O 340
O,0000000tw+d000000O0O.WHOODOODOOOOO, PO
gooobobobooouoooobobo,wyboooooooooooao
goboobooboobogd.

read 0000 RO OO tz + min{|R,d—«} 0000 P000000000
O0. |W| = v+ a-max{d — 2u,0}, |R| = v + (1 — a)max{d — 24,0} OO
min{|R|,d—u}+|W|>d00000 0ty +|W| <tgD 0O tg+min{|R|,d—u} >
tw+d00D00000,W =Write(R)OODO ts(W) < ts(Write(R)) D 00O
og.ogo,0boodb-0 wh ROOODDODOD.

(d) op,0 read 0000 R, op,0 write 0O OO WOOO
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RW,Write(R) D DO 0D 0000000 tgtw,twepl00. 00 3400,
tW(R)<tR—|—m1n{|R|,d—u}—(d—u)DDDDDDD,tR—|—|R|<tWDD,

twry < tw —|R|+min{|R|,d—-u} — (d— u)
tw — max{|R|,d — u}
tw — | R

IAN

IN

tw—u

00000.00000000, ts(Write(R)) <ts(W)DDODOO,0000070

RO Write(R)O WO ODOOOO.
000,7000000,0000 reaed 0000000000000 writeOO

0000000000000000.000,00-000000. n

34. OD0000O0OD0O0O read/write0JOOOOOOO
HEN

O000,0000000000000000 read/writeD 00000000
Uoooouog,bboobobbbodbdodd registeryg 40 U w0000
Uoobooogod registeryg_ 00000. 0000O0OOOOO0O,000
guobboooodbbuoab,ooobbbbboooboobboodaoba
guogobuooooooaua. bbooooboboboboooobboooo
gogoo,boggoooobabbobb.

3.4.1 UOUOOUOOU registeryp_ac

OO0, write OO, read OO0 O0O00O0O0ODO0OODODO 4000000O00OODO
registeryg_ 4o, 0000, ODOOOO OO0 registerpp_,o00 000000
3.7qanon.

O0,000000 registergg 4,o,00000000000O00DOOC0OCOOO
O.0booboobooooooo Mo,0bobooboooooobbooobo
ooooboo.boobo,0oobbbboobuooooobboo. b 3snnog
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transition functions of process F;
Invoke(i, Write(v)) :
count := count + 1;
for j =1ton /* broadcast an original update message */
do Send(i, j,update(v, (count,)));
TimerSet(i,d, WRITE);
Invoke(i,Read) :
res_val := local_copy;
for j =1ton /* broadcast an additional update message */
do Send(i,j,update(res val,last_up_ts));
TimerSet(i,d, READ);
Receive(i, update(v, (recvd_ct, recvd uid))) :
count := max(count,recvd_ct);
if last_up_ts < (recvd_ct,recvd_uid)
then local copy := v; last up_ts := (recvd_ct,recvd uid);
Alarm(i, WRITE) :
Return(i, ack);
Alarm(i,READ) :
Return(i,res_val);
Stop(7) :

No events can happen after this event.

037 00000000 registeryg_ye (PO0DOODOO)
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—— g gooogn

038 dbobobouogbboboooooobogon

039 000000 registery;_, 000000000000

0000 pO00O0,write(v) 0000000000 MOOODOO MOOOO
gooboobbobbuoobo,o0bobuobbboooddread RUOOO,
MooooOoooO000000000.000,0000 /00000000
U mMOOOODODOOoDOoOOoDODOO,RO0O000D0rreadd00Onbog,ogn
0000000000000, 0000000 read00000000 B
O000O0OD0read 0000000 «o0000000D00ODOOOOOOO WO
read/write 00 000000 write(v) 00000000000 DOODOODOO 3.8
0000000 read/write 0000000 00000000000000
goobooboodb MooboooooooobobooMMbobbooboo
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OO0o000obooobobobboooo 3o oo,0ogbgg BO read
U0 ROOUODO0O0O0O0O0O0O0OO readd0 000000 0O0O0OOOOODOOOOO
O0000000.00000000OwriteO O WriteR)ODOODODODOOODO M
godooboooobo,bboobbbdb MOUOoobooobobboooo
goodoboobooooboiobbbbooo. gooooood BO write
OO0 WriteR)DUOODODOOOOODOODOOODOOOODOODODOOOODOO
U000 pO000D000000O0OD0 readJ0000O0OOOO0O0ODODODOO0O
00 writeJO Write R) D0 00000 00O0O0OO.000,00000000
godb00,reed D000 RODOODOOODOOODOOD read D00 RODO
000000000000 bUb0.0dbddreadd0 0000 d0ooonogon
O000,RO00000000000D0O000DOO00OODO read000C0O RO
00000000 b0odbUdbread0 00 00O00O0O0OO0OODODOODODOO
WriteR)DODO0ODO0O0DO0OO0O0O00O0O0ODOO0OO0DOO0O0OOOOO0OOOO
godooooooboboo

gbhopogbbboobbowriteDODOOOOOODOOOODOODLOOOOODOO
O0000Oread 00 ROODOOOOOODOOOOODODOO, writeOO Write(R)
bbb ooogubobo.oooub,gbobuoboboooaooa
gobobbooobobobobooboobOon,bdnobn register yp_ 400
gogd,bbbdoodoubobboooooooooobbbooo
gogooaod.

O00,000000 registeryz_,,0000000000000000 read/write
0000000000 00oo0. 00 pO00,00000000 EODODOO
O. 00 pO000O0O0O0OODO0O0ODODODOO writeDD WDOOO, WOODOO
O0obd0ob0o0uoouobdtbreaedd D00 OO, 1MOO00DOODODOO
O0 woDOoooooooDooooo EoDo0. 00,0 read 00 ROOO,
ts(R) = ts(Write(R)) 00 D0. 00, wiite 0 0000000 0p0 00, 0000
0000 count 000000000000 O0O0ODOOOODOOOOO tsop(op) O
O0.00 opO write OO O OO ts(op) =tsoplop) 00000, 00 opO read
00000 ts(op) < tsoplop)0 0000,

00 38 00 FOO0DOD,00000000000 opy,op,0 00, opy 2 op,0
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00 (ts(opy),op-ts(opy)) < (ts(ops),op-ts(opy)) D OO ODO.

(00) 0000 opy,op,0 00000000 OODODOOO A,PR,OO0O.0O0 F
gbooboo,0ubo0 0000000000000, 0p,0000 write O
DDD.oplﬂopzﬂﬂ,DDDD PO write 00O op,0000000O0O,O00 E
00O op, 000000000 DO0O0O0O0ODODOOODO readd0 op;, 00O OOOMO
ool op,000000O0O0O0. 000,00 0p,00000 PODOOOODO
god. 0l oep,00000000000OOOO00, PO op;00O0OOO0O
gooo.obd,oep, 000000 dODODO. DO0ODDODODO0ODDOODOO
oboobd0b0bgbooobod epy0 AODOOODOOOO op, 000
gbodoep; 00000000000, 0000 AOOODODOODODOODO, op,0
gbooogdobooo.ogb,ep,0doobgn t,op, 00000000
tsdgd. opooooodgo,op, oo oobbbon,odgnon
00« +d0000000.0000, op,0 op,000O0O0OOOOOOop,00O0O
gogobsLb0bodb >t +d00000, 0000 RO ep,00000OO
goobobbodd epydoboodbggod. bboogbood, op,U
Jdoobobobobodooooog,0obbbog tss+d0ngd op, 00000
gbododdoep,obbobobooooooobb.dobbd, opst op,J 0O 0OU
Uobodb t>ts4+d00000, 0000 RO p,000000OOO0ODOO
ot op; OO0 OOOOO0OOO0OO. op,0DOOOOOO0OODO opg
gboobooooboboobuogogd, RO count0 00000 op, 000000
0000000000 coumtO 0000000, op,00 writeO OO read D OO0
000o0oddod. eccunt 000000000000 0OOO0OO0O0OOO00O0O
op,00 00000 op-ts(op,) < opts(op,) DO OO0O. OO, op,0 write D OO
00 ts(opy) <ts(op,)DOO0O,0p,0 reed 0000 op, 000000000
000000000000 wiiteDOOO0OO0OO00O00O, ts(op,) < ts(op,)
O0000. 0000, (ts(opy),op-ts(opy)) < (ts(ops),opts(op,)) 00000, m

00 39 000000 register,5_40, 00000, 00000000000
00 read/write 0 00000000000000000000O0O000O0,

res_time(write) = d, res_time(read) =d 000 .
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(00) 000000 registeryg 4,,000000000,0000000 res_time
(write) = d, res time(read) =d00000000000. O0O,000000
reqisterypg_,00000000000000O0.

complete(E')OOOOODODO0O0OOODOOODOODOOOOO-0000,00
00000 opy,op,0 000 op, 4% 0p,000 70 op,0 0p,0000 00
Jdoodoob. 0o-s0doooboboooood writeO O WoDOOOOOO
O00.000,ts(W,) =opts(Wy) =(0,00000. complete(F')DDOD0 000
0000 opO (ts(op),opts(op)) D0 DD O0OODODOO70000ODO.

00 3800, 0000000 opy,op,0 00, op, <)
O op,000000. OO, 0 read D000 ROOO, W = Write(R) OO
ts(W) = ts(R) 00 wiite 0000 WODOODO. 00,000000000
RWO DD, opts(W) <opts(R)D0ODO00. 000, WDOOOOODOOODO
000000000 00000 witeD OO0 W,000 ts(W') > ts(W) = ts(R)
goooa,wooooouoboooooooooooboooood writed O
00 W,000 ts(Ws) < ts(W)ODOODOO. 000,70000 WO ROODO
O0write O OOODOQOQOOooo,s000O0OO. [

op, 000U TU opy

3.4.2 UUOUOUOUOU registeryp_,c

O0,00000,«00000000 res_time(write) = u, res_time(read) =
d0D000000 registeryp_, 0 0000. OO0O0O0OOOO registeryg_,oU
ooooooosioooo.

000000 registeryp_ 00, 0000000000000DOC0OODOO.
OO,reed0000,000000d—-w0000000O0O0O0CO,00000
OJ4000000000000,«000000000000000000D0A0O
«wO000,0000 witeDOOOOOOO «00000,W, 5w,0000 E
D000 wrted OO0 Wy, W0 OO, W 000000000 WHAOO0ODOOO
O0D0O0O0o0oooooooboboboO0. 000,000000 registeryg_,c00
write 10000000 «0000O00O0.

000000 registeryp_, 0 000000000000000O read/writed
Ooooooobooooobod. o0 pO0O0,000000 registeryg_ g0
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transition functions of process F;
Invoke(i, Write(v)) :
ReadClock(i,local.l);
for j =1ton /* broadcast an original update message */
do Send(i, j,update(v, (local.l,?)));
TimerSet(i,u, WRITE);
Invoke(i,Read) :
TimerSet(i,d — u, SET _VAL);
for j =1ton /* broadcast an additional update message */
do Send(i, j,update(res val,last_up_ts));
TimerSet(i,d, READ);
Receive(i, update(v, (recvd_ct, recvd uid))) :
if last_up_ts < (recvd_ct,recvd_uid)
then local copy := v; last up_ts := (recvd_ct,recvd uid);
Alarm(i, WRITE) :
Return(i, ack);
Alarm(i,SET_VAL);
res_wval := local _copy;
Alarm(i,READ) :
Return(i,res_val);
Stop(i) :

No events can happen after this event.

0310 00000000 registeryg_,o (ROO0OODOO)
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00 (82000)0000,00000000 FOOOOD.OO FOODOOO
gboooobobodwrted O WOOO, Wb ooooooooooooog
O0D0read 00000 ROO, RMODOODOOOO0OOWOODOOOOOODO
00000 FOODO. 00 FOOOD0OO0O0O0ODOODOCODOO.

OO0 40 OO FOOCODO, ODOOCDOODOO opy,op,000, opy =N op, 0 00
(ts(opy), op-ts(opy)) < (ts(opy), op-ts(op,)) DO ODOD.

(DD) D000 op,op, 0 00O 0O0O0OO0OOOOODOODO P,ROODO. op,0
reaed D00 write OO OO OOOOOOOO.

(a) op,0 reaed 00000

O0 FOOD0O0O,PA0000p,00000000000O. op,00000DOO
0¢0000,RA000 (41+d—w000000000.000. Write(op,)O t,0
gbobbodgub.gbo,bogoododgb opuoggbooboobbbod
L+dO0000000. op,0 op, 00 00OOOOO, 0p,0000O0OOO t,00
O0t>u+d00000, 0000 RO p,0000000O0OO0ODOOOOO
op, U0 00O0O0OO0OOOOODOODO. ODOO,op,U writeU DD OO »-0000O
O ts(op,) = ts(Write(op,)) < ts(op,) 00 000. op,0 read 00000, P,00O
UO0000o0oon t,+d—wOO0O op, 000 000OO0OOO0OOOODODOO, op,
0000 ts(op,) 000000 D0ODOO0O0OOO0write0OOOOOOOOOO. OO
00, ts(opy) <ts(op,) D0 0O00. 00,w-000000 op_ts(op) < op_ts(op,)
O0000. 000, (ts(opy),op-ts(op;)) < (ts(opy),op-ts(opy)) D OO O DO.

(b) op;0 write 00 OO0

OO0 PO0000,0000 AOOD ep,00000000ODO, op,0000O
WriteDDDDD.oplﬂopzDD,DDDD PO write O op, 00 0O0OOODOO,
OO0 FOOD op,00000D0000D0000OOODODODODO read00 op,000
O000D000 ep,00000O00O0ODOO. 000,00 0p,00000 POOO
O0Oooog.odoep,00000000O00DODODOOODOO, PO op;,00000
O0o0O0oob0O0.000,ep,000000d000.000000DO00ODODOO
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00O write UO0O0D0O000 « 0000000000 op, 00 AOOODOOO
Uodop,000000 op;,J0bbobooog, 0o AODOODODOO
0000,0p,000000 «00000.000, op,0 writeD00D0, w00
0000 ts(opy) <ts(op,) 000000 D0.0000,0p,0 reaed0 000000
0. op, 00000000 4,0op, 00000000 U0O00. 00000000,
op,000000C0DOOODOOO0O0OO,0DODOO0®L+d0O00ODOOD. OO
00, o0p,0 op, 000000000 0op, 00000000 t,0000 t, >t +u
O0000. RO op,00000 te+d—u(>t+d)0000000,0000 P,
Uop,U00OOOODOOOOUO op,J0O00OOOOUODODOOO. ODDOUOODOOO
O,op,00000000000O0O0OC0ODOO0ODO,000000 344000 op,0
gobboobboddoep,uddbbooobobbudnt.odbn, ops opsy
OOobDOob0Od0O0 t,>ts+d0000O00O. O0OO,0000 PO op,0 00
gbobooobugb ops U000 ubugbobbbbod. g, ep,d 00
gbodogobdobd ep,bodgboboboboobboboooboobn
O, ts(opy) < ts(op,) 00000, 00,w-000000 op_ts(opy) < op_ts(ops)
00000. 000, (ts(opy),op-ts(op,)) < (ts(opy),op-ts(op,)) OO DO. m
gb4000,003000000000000000.

00 41 000 000 registerys_, o0, 00000, »-0000000000
00 read/write 00 00000000000000000000CO0O0O0O,

res_time(write) = u, res_time(read) =d0 0 O . n

3.5. Jouoouoobgoboooooooonod

gbodg,dodtoboodobooobbbooobbbodoooobod
OD0O00,000000000000000 generalgg_40 0 «x-000000
00000000 generalgp_ 0 0000. D000 DOOOOOOOOO0ODOO
O0000,000 ak0000000000 restime(op,) 0000 valOOO
0000000 restime(op,) 0000000,

gbbobbooobbbuooooodgobo,bbobobbbboooobb
gobogodooob,bboboogbbobuoobooobbbuobobobno
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gd. goggubbboobbod,uodboobdobbobobboooao
O read/write 0000 O0O00O0D0OOO.

3.5.1 000000 generalpp_ac

000000 generalgg_ 40,00 [11]0 0000 res_time(op,) = u, res_time
(op,) =2d000000000C0O00O0C0O0OO0O0O0O0O0OOOOOODOOOO.
Oob0,00000000000 general;p,000. DOODOOO general 0
Oo00000o0obo0doOo0oooooUooooooog,ooogoog. 3.5.1
000,0000000000D00000D00D0D00DO00O0 000 generalpyp
ooood.

00,00 110000000 general;,,0000,00000000000
OO0 000 generalpg_ . ,000000000. 000000 general;,»000
go000OoO00o0OOo0o0obOoO0goOoOoOobOoUObObO.ODoogoboobooog
OO0o00o0o0ooooobbo0ooooboOo.obdb poooo POOODOO
0000,0000 pO000DO0O0O0OCO0OOODOO0ODOOODO0O0OD. OODO
O0d—-«000,PR00000 0p00000O0O00OO0ODDO. RPOOOODO
g0000O00oO0oOO0bOO0DbDO00g pOCooboODOOD,DO0O0DO
0000000000000 0000O0ODOOoOO0000O00. 00DoOo,0o
OoOoo0ogdO opy0 op, 00 00D0OOOOOCOOO, OO op,0 op, DOOODO
O00ooooooooobo.oo,0poobo00oobd0 «00g,0000o
O r0O0 oplgopQDDDDDDDD,DD pO000D0O00O00 op,0 op,000
O00O000ob0odo. oo, 00 pOO0DODOOOCOUOODODOODODDOOO
0000D0000000000000000O0O0 PO, 00 FODOOOOOO
00000 70F000. 000000 general;,,,0 000000000000
O0.000000 general;,,0 000000 FOOO. O0D00O0COODOOOO
000000000000000000000 PO®00O,0000000000
0000000000000 70000000. 00,0000 epO0000O
OO0 2d0000,p00000000C0D0COD. DO0O,valOOOODOO
002000000. ak000000,000000D000D0O00O0O00O00O0O
Oo,00000000D0000D0C0«O000000O0. 00,0000 opO
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u oo d-u

*P”M]ﬂDDDDDDDDDDD ””””

— 0 ooogog --=» 0000000

0 311 D00 000 generalgg 400000

00000000 7TO%(ep)00O0.
00,0000000000000000000.000000 general; ;70
0000000000000,00000 ak000000000000000
OD00.00E0,00ak000000p,00000 ROOODOOOOOO, op,
D000000«0000000,000000d-«00000p,000000
000D00000000.000,d-w>«00 PO op,0000000000
000000000000000,0000000 00000000000
O000000.0000 pO0DOO0ODOO0OODO, 000000 7000
000000000 op,00000 0p,000000000000000,000
op, S op,000000.
000,000000 generalzg 4,,000000000000.03.11000
000 E0ODOO op, % op,000, 000000000000 op,00000
0000000 op,0000000000000. 000000 generalgg_ 400
0,000000000000000000000000.0000000000
D0000000000,0000000000 op,00 0p,000000000
00000000000,000000000000000000000000
000, (opy,op,) € POPODDOODODODO op,00 0p, 0000000,
000000 generalgy 4,,0000000. 0000000000000O0
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gbobboodooo,bggbbobobbbbouooooobobobooooabb
gdodoogubdbooooobbuoodoooubbuoobboooooobod
gobbD. dgb,gb0bbbobbdoboobbdooboobobobooogn
Oooooooob. b0 pOD0O0,pO0000000DDOO0O0OO0O0 ackOO
gobbooobdb e ,J0000bbbboobbdde+eb,0000gn
O000000OvalOO00O0ODbOO0onoooD e 00bobobooooboooDon
e, +2d0 000000 FDOOO.
00,00 [11j)ooooooooooog.

00 42 00 complete(E" YOO OO, 00000000 op,00, 0p,00000O
000 ¢000.0000,70°eE) (o )000 t+2d0000000. =

00,00 complete(E') 000000000000 OOOOODODOO.

00 43 00 FOODOO, 00000000 opy,op,00, opy,op,0 0000
0000000 #,,,000. 0000, op, complete( ')
Tocomplete(E’)D oooo.

op,L1 00, (Op170p2) €

(00) 0000 op,op,J00000O0DODOODOOOOO P,ROODO. OO
complete(E')OO,000000000000O0O0O00O0OOOOOOOOOO
gogb.od,bddbep,d0ubboogoooooboboobogn
gogoooo.

(a) op, 0000000000 DODODODOOO

D0000D00000 op,0 00000 »00000,t+u<t,00000.0
000,0000 PO op,00000000000 t,+d—w00000000
O, PO op,0 op,00000000000O0O0O00DOOOOOOCOO. DOO,
(opy, 0py) € TO™E) o000,

(b) op,0 0000000000

goboouoobbep,0000O0 00000, +u<t 0000, 0O
oog,00ooooogobD ¢4w+4d000 op,0000000O0O0O0O0ODO, O

90



Ot+d—u(>t,+d) 00000 op, 0000000000000, OOO,
(opy, 0p) € POC™PEI [ (op,, op) € POC™E)\0 00000 opO O OO
O00D0. 0000 op000000000D00D0O000 opy,op, 000000
O00000D00000000,00000000000000000000. O
000,00000000000 op,,0op,000000000000O00. OO0,
(opy, 0py) € TO™E) OOQ0O. m

U0 44 OO0 0O0OO generalpzg_,o0, 0000, 0000000000000
goobooooooooobbobbuobooooonoboonbgg, restime
(op,) = u, res_time(op,) =240 00 .

(00) 000000 generalgg_4,,000000000,0000000 res_time
(op,) = u, restime(op,) =2d00000000000. 0DO,000000
generalpp ,-,00000000000000O.

complete(FYO OO ODOODDOO0ODOODODOO0OODOOO-0000, 00
00000 opy,op,0 000 op, complete(E') op,0 00 70 op,0 op, 0000000
00000, complete(EYODDODO0000O opd 7O EV\n o000
00-00000.00 4?>DD,DDDDDDDopl,op2mDD,opl°°”””_‘”§e(‘”3"op2
00070 op,0 op, 000000. 00,00000 PO valOODOO 0p,00
D000000000000. D000 op00000000DOO ¢,000. O
0D4200,0000 PO0ODOOO 7OC™eE)0 000 op, 00000000
0000000000000t +2d0000000. 0000 RO,00000
000000 (op,op,) € TOC™eE)0 Q0000000000000 DO0O

gugbobobgep uudbbbod. g, -00gobn. ]

3.5.2 000000 generalpg_,c

00,000000000000 restime(op,) = u, res_time(op,) = d + u
gobbodobobobooooouououob bbb o. oo bbb
generalpg 00000000 3.12000.

000000 generalpg_, 00, 000000000000 O00O0OOOOODO
gooo,dobbbodooooboooobbuooooboob.ooob
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variables

op_ts, type timestamp ;

local_copy, type value of the object, init initial value of the object;
update_buffer, init empty;

transition functions of process F;
Invoke(i, op) :
ReadClock(i,local cl);
BroadCast(i, update(op, (local _cl,7))); /* update message */
if op is ack-type then TimerSet(i,u, ack);
else /* op is val-type */
op_ts := (local_cl,1); TimerSet(i,d + u,val);

Receive(i, j, update(v, (recvd_cl, recvd _uid))) :
update_buffer := update_buffer U (op, (recvd_cl, recvd _uid))

Alarm(i,ack) :
Response(i,res) where res is a unique response value for

current op;

Alarm(i,val) :
while op_ts > min{ts|(op,ts) € update_buffer} do
smallest :== (op,ts) where ts is the smallest in update_buffer;
apply smallest to local_copy;
update_buffer := update_buffer — { smallest};

Response(i,res);

Stop(i) :

No events can happen after this event.

0312 00000000 generalpy oo (RO0OD0O0)
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opUO0 OO0 ROOODOOODOO, RO0DOpUOOLO0OO0OOODOOOO,O
gobboubooooboooobbooboobodgo.gbobooobon
Oooooooon0,0b0gn updatebuffer 0000000000, »-0000
ooboboo,oooboooooobodbobobobbo,0bobobog oo
bbb dJd+«00000000000DOOO0O00O0O0O0DOOODOOO0ODOO0
Uop, UOO, 0p,00 op, 0 0OOOOUOOOOOOOOOOODDO. 00000
op,U00O0O0O0OUOODOOOOODLODOOODLOODOO0O0ODDep,0b0o0ug
d+«.000000000000000D00D0000O,valOO00 epO0O0O,00
Uddbd+«0000 opUbooobogg,bbobboooboogon.
ackODO0OOOO,00000000000DL0O0O0OOO,0D0DL0O00O0OO
bbb «00oogbbo. g0, ubboodbooob,o0odao
gobooboboooboboooobbobobooobbo,0b00dgu generalgg o0
gogoboboooogon.

o0 0on generalgp_ 0000000000 O0OOO. OO FOUOO, E
O0bobo0o0o0bobob0oobobb k00000000 ooon e 000000
gouboddb e +wlb, 0000000000000 vvalOODOOOOOO
0000 e 0000D0DOO0ODODODODOUOO e, +d+w0000000 FOODO.

O0000,00 FOOO0D000OO0000O0O0oOooooooon.

00 45 00 FOO0ODOODODOOOOOOOOO00O0O00O00O00 Ine00O, Inv
oobobgooooobbo MbDOOo.0D00O0 RO MOOODOODDO
Ooooo0oOoo, MOOO [time(Inv) +d—u,time(Inv)+d 00000, m

v-U0000o0o0oog,ggdgoobodgdb«~00b00ooobobooboo
gooboga.

00 46 00 FOOOOCODOOOO opl,opQDDD,oplgo%DDD ts(op;) <
ts(op,) 000 ODO. n

00,000 valO0000000D0000000000.

00 47 00 FO000000000 vw000000 op,00,0p,000000
00000 P, op, 00000000 ¢t,000. 00, ts(op,) < ts(op,) 1000
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goobood op,000, op0000boooboobboob MOOO. OODDO,
oooo pPpO MODO G, +d+w00000000.

(00) 0000 op,0 0000000000 RO0,ep,00000000 #,0
00.«0000000000, ts(op,) < ts(op,) 000 ¢, <t,+«00000.
000,0045000000 PO MOOO t,+d+«00000000. n

OO0 48 OO0 DOODO generalgg o0, 0000, 00000000000000
000000000000 00000000000000DO0O0O0, res_time(op,)
= u, res_time(op,) =d+w000.

(0D0) 000000 generalgg ,,000000000,0000000 res_time
(op,) = u, restime(op,) =d+«00000000000. 00,000000
generalpg 000000000000 0OO.

complete(F')0 OO O0OO0O00000000O0000O000-0000,00
00000 opy,op,0 000 op, 4% 05,000 70 op,0 0p,0000 00
O00000. complete(E') D 000000000 op0 ts(op) DOOOOODOT
00000.004600,0000000 opl,opQDDD,opIC"mpite(E')opQDD
070 op,0 0p,000000.00,00000 RO valOO0OO0 op, 0000
0D00000000000000000000000000,00 4700 POO
0000000000 op,00000000000000000O000O0000

gbodobobobooodob e 0bb0DOO0O0OO0OD. ODO0O,-00DO0O0. ]

3.6. 000

gbog,uogougbododgbooobuooboobbbbbooooon
000000000000 0000oooooOooUOO. oo n2oo,000
0000000000000 0000000000000000 read/writed O
gobobobobbobobooouooougoguooo. ggg,bobbobuoooon
0000000000000 0000000 read/writeD0OOD0OOODOODOO
gudgdoob. obbooobouooooooobbobboooobn, o
gooogboobobbboobubiutd »--0Ohb0oouooobono,bobbb
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I e 2 I I O I I N I
gdodbouoobboooobbbobooobobobbboobobobboboon
gogobgoogobobbgb, oo bboboooboobon
guoduodbobtdbib«gooooobobuoobob s20bbbbboood
goooooboboon.

o, bbb oobo, bbbl «0on
bbb uooooooboboooo.oboo,bbuoooo
gbgdggoobbbobboboobbbbbbooooooob,boooo
ddiddd«000«-000000000000000u00gboooooa
O0000. 00000000, Mavronicolas 0 0000 0000 Synch[15] O
godgo.obobbdodoub ooy, oo ooo,bbooo
godoooobooboooooobbboodob,«.0b0o0bb0booognb
guodgooobobbobuoboooood.

gobooboooobboboobo,dddobobbbo. o0, o0oooo
gbbbboodooboboug,gggggobbboobooobbbb
0000ooooo (3,16,11). 0000000000000 O0OO0O0OO. OO,
bbb oooooooouobobboobbbbuooobobobooaa
gooboboobb,guoobbbubooouobobbbobuooooa b
goooood. bog,0boboobbobooboooboooobob
gbbobobooouoooooooooon.
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] 4 [

L] [

gbobood,gdbobbbbooogbbboooobbboobuoooooobo
gobbbboogbboooaoobod.

gbo,ubooogoobobguoooobbbooobobbobooogon
gbboouoaoobboobb. obbooobbbboooobboobo
gobboobooobooobboobbobuooboboobouobboooooayd
g.gbobbotogobbbooooboooooobboooooboboan
n=2000000000.000,0000 12200000000000000
g,0bobdgoobooood iibbbbdoooobboogbbbbboo
godgb.bogodgbuouoooggbobboooobooooooboban
00000 4n?-3n-1000000000000000000O000O0O000O0O,
gobdgbbuobuoodgbobbobboobobobobobbooboooad.
gd,bogooougobbboogobobogbbbobboboobbbodad.

go,dboodgbbbodbboboboobouoooobbbboooaon
0000O0000O00U0OO0O0O0OO. OO [12J000,000000000
0000000000000 00000000000 read/write0 000000
gbbobbugugoooobabuooo.ogbbbobo,bboogoo
0000000000000 0000000000 read/writeD 0000000
goobbuoogob.bbobbboubuooogouooooaoobboan
g,b0ugboboboobbbbbbiubiddb «-000bbooooob, i
ggbodgooooobobbbbobuoouoooooooob. bo,bb
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goubboobbobobuouoboobbobooobboboobbboobbbn
gooboogggbbuobo,ggobbddooooobooobbooob
gobbbbiub«-uoogbubuoooooobboobooobbodbod
guo.
gooobobobobbbbootoogobodooooobooobboon
goggb,gbbogbbobbobob,boooobobbobbboabbob
gogobbooogg,obobouooobobbbdoooboobbboooon
goobbbbooodgbbooooobooooodo. bobbuoooobbbo
gobbodbo,bbooboobbooguooboab,bbbbobbbbbo
gboobooogbbbob. oo, guooaobbobbobbbdan
gb,ddbbobuogogobbbbuogogoguoboooobbobobon
gogbbobuodgobobbbooodoboboboooboo.
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L

gbobobooooggda,buggobobbogobbobouoogon
googdboboooobo.

gbbobooobbbbboooobbbooouobobbbb,0o00ob
godogoogoo.

gbboobbogob,uodg,bboobbooobbbooab,oodada
gobbobuoooobbboboobbbooobbbobooon.

gboboooboobbooo,oobbooooboo,bbob,oobbooogd
gobboobuoobobobboogn.

gbooobooboodgg,bobooboogboaobbog,ooboon
0000000000000000O (D000D),00oo0ooooUOoOoOd
gooo.

gb,tudddddooodg, oo ooooooobobobon
goboboooo. bg,bougooogboobbbbobouoooooobb
gogbobo,gdbobogbbooooobbbooo,bugo,buooooogao
gooo.
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